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(1− ε)Θ(r ∈ V ) +

ω2

c2

]
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− exp(ikx′)
b

|r − r′| exp(ik|r − r′|).
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eikx−b
∑

j

eikxj
b

|r − rj|
exp(ik|r−rj|) = eikx−

∫

0<x<d

N0 d
3r′ eikx

′ b

|r − r′| exp(ik|r−r′|). 78�8ù9
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exp(ikr)

r
=

4π

(2π)3

∫

d3p exp(ipr)

p2 − k2 − iε 78�Qú9
7ε 6 �
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d3p = dφ d cos θ p2 dp
�
pr = pr cos θ
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dφ d cos θ

����!	�
4π

(2π)3

∫

d3p

p2 − k2 − iε =
1

iπr

∞
∫

0

p dp

p2 − k2 − iε
(

eipr − e−ipr
)

=
1

2πir

∞
∫

−∞

2p dp

p2 − k2 − iεe
ipr.
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2p

p2 − k2 − iε =
1

p− k − iε +
1

p+ k + iε
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−∞

2p dp

p2 − k2 − iεe
ipr =
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−∞

dp

p− k − iεe
ipr = 2πi exp(ikr),
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[∆ + k2]
exp(ikr)

r
= −4πδ(r). 78�Q 89
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d3p = dpx d

2p‖
�
p2 − k2 − iε = p2

x − p2
⊥ − iε

	
pr = pxx+ p‖r‖

� �" �
px

�
p‖
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1

p2
x − p2

⊥ − iε
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1

2p⊥

(

1

px − p⊥ − iε
− 1

px + p⊥ + iε

)
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4π

(2π)3
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d2p‖
2p⊥

exp(ip‖r‖)

∞
∫

−∞

dpx exp(ipxx)

(

1

px − p⊥ − iε
− 1

px + p⊥ + iε

)

=

=
i

2π

∫ ∫

d2p‖
p⊥

exp(ip‖r‖ + ip⊥|x|).
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2π
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exp(ip‖r‖ + ip⊥|x|), 78�Q�9
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Θ(x > d)ψ(r) = eikx −
∫

0<x<d

N0b d
3r′ eikx

′
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i d2p‖
(2π)p⊥

exp[ip‖(r − r′)‖ + ip⊥(x− x′)]. 78�Q�9
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Θ(x > d)ψ(r) = eikx
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1− id4πN0b

2k

)
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exp(−idu0/2k)
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kx
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k(x− d) + kd	 ��<�"	
	�
kd

� −(u0/2k)d
� ���"� 78�Qõ9 �����	# ���� � �	"�

Θ(x > d)ψ(r) = exp[ik(x− d) + ik′d], 78�Qö9
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k′ = nk
	

n = 1− u0

2k2
. 78�Q÷9
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θ
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k′ sin θ′ = kn sin θ′
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k cos θ
	
k′ cos θ′ = kn cos θ′�
� 	 �
���	 ���"� v

r0 =
k cos θ − k′ cos θ′

k cos θ + k′ cos θ′
=

cos θ − n cos θ′

cos θ + n cos θ′
=

cos θ −
√

n2 − sin2 θ

cos θ +
√

n2 − sin2 θ
=

cos θ −
√

cos2 θ − (1− n2)

cos θ +
√

cos2 θ − (1− n2)
,
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sin2 θ

�
:��	

u0/2k
2
� ����(�
		 78�Q÷9 ���� � �� ��(
� ���	���' v

n2 = 1− u0
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∫
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∫
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α(n, qj) exp(2πinx/a)

� ���
��� &�

*	� 78�öú9 �
� ���"� � ��	"�� � ����+ � ������ � 
 ���
�
�!
� �	�����
��"
���"
�� ����
�
	 "��
Cj

�
RN

	
TN

��� ���
�	
� ���
�
�!
�� �	����� ����
�
	 �����
�	�	��%� � 
�
����� 
� ��������
� �����#
���'% 
�
�!
��	 �	������	 � I����� #	� �������� �"
����
���� ��	��	$(�
	� � 
��" � ��� ����� ����
����� �"	
����

� �
���
�
�� 
C exp(iqx)

� ��� ��	��	(�$
	� "������!
� ����#� ��	
k
� " ���
	� �� ��������
	� �
�!�
	 �



­®� ®   ´±¶¹ó ¶ ñ´¾À¶ ´ ¾¶ ¾°´ºò m�
,��"�%+�� ��	��	(�
	� 6 "������
���� � 
��" � � ;��'�$�����(�
		 78�öú9 ����
	!	$��%��� "���� 
�	����� ��+ �����

��	 !��
��	 � ��� ��	��	(�
	� "������!
� ����#���	
k
� ��	�
	� 
 ��������
	� �)��
���� 
 ���
"���
��� ��	��
	% ���(� � � �� !�� ���"���
���	���� "���� ��"��"
 ���	�"	!��
	� �	������ �

ûü¤ ü� ý��
{�ÿ��
���� ������
H�� ���� !���� 
� �	

RN

	
TN

� 	��!	� �
�!��� �������
�
�!
� ���	�"	!��
	 ����
$*	�� � ��
���

� 
� �	� � 8�8� �8õ�Qú� � N"��' �����
��	 ����� 	�����(�
� ��"�%+�� 	 ��$��(�

�� ���
� � ��	!�� ����	��"� ����(�
	� ����
�!�
� !����
R
� 	 ���
� � ��"�%+��
� ����� ���	�" � ����
�!�

��

X
� I� �
����		 � 78��t9 ��(
� ����� 
��	���' �	���������
�
	 "��

X
	
R
v
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� �" �

y = R
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√
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R =

√

(1 + r)2 − t2 −
√

(1− r)2 − t2
√

(1 + r)2 − t2 +
√

(1− r)2 − t2
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X ≡ eiqa =

√

(1 + t)2 − r2 −
√

(1− t)2 − r2

√

(1 + t)2 − r2 +
√

(1− t)2 − r2
. 78�öõ9
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√

cosφr + |r| −
√

cosφr − |r|
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cosφr + |r|+
√

cosφr − |r|
, eiqa = ∓
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sinφr + |t| −
√

sinφr − |t|
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sinφr + |t|+
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	�	 � ���	 �!���' � !�� |r| cosφr = Re r
� � ∓|t| sinφr = Re t

� �" �
Re x
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√
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√
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√

Re t+ |t|2 −
√
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√
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√

Re t− |t|2
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√
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√
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√
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√
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R =

√

ctg(ξ+/2)−
√

ctg(ξ−/2)
√

ctg(ξ+/2) +
√

ctg(ξ−/2)
, eiqa =

√

ctg(ξ+/2) + i
√

tg(ξ−/2)
√

ctg(ξ+/2)− i
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tg(ξ−/2)
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γA+ δB
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1− exp(iqa)

1 + exp(iqa)
=

√

(1− t)2 − r2

√

(1 + t)2 − r2
=

(

1− t+ r

1− r + t

)

√

(1− r)2 − t2
√

(1 + r)2 − t2
=
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1− t+ r

1− r + t

)

1−R
1 +R

. 78�÷Q9
u!	����� � !��

t− r = exp(iξ−)
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1−R
1 +R
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sin(qa/2) cos(ξ−/2)

cos(qa/2) sin(ξ−/2)
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R =
cos(qa/2) sin(ξ−/2)− sin(qa/2) cos(ξ−/2)

cos(qa/2) sin(ξ−/2) + sin(qa/2) cos(ξ−/2)
=

sin((ξ− − qa)/2)

cos((ξ− + qa)/2)
. 78�÷�9
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√

Re t+ |t|2 +
√

Re t− |t|2
=

√

cos2 φ− − r2
wb cos2 φ+ + i

√

sin2 φ− − r2
wb sin

2 φ+
√

cos2 φ− − r2
wb cos2 φ+ − i

√
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F ∼ 1

E − Er + iΓ
, 78�8t�9
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E = En
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φ(E) = 2χ+2kl = π(2n+1)
� �" �

n
6 *���� !	��� � I�	 �
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E ≈ En
&���

φ(E)
��(
����"����	�' � �	"�

φ(E) = φ(En) + φ′(En)(E − En) = π(2n+ 1) + φ′(En)(E − En), 78�8tõ9
�"�

φ′(E) = dφ(E)/dE
� :��	 |t|2 � 1

� �� |r| ≈ 1
� 	 ����	��"� ����(�
	� ���	�	 ����
�
��

R = r
−iφ′(En)(E − En)

1− |r|2 − i|r|2φ′(En)(E − En)
≈ exp(iχ)

E − En
E − En + iΓ/2

, 78�8tö9
�"�

Γ = 2
1− |r|2
|r|2φ′(En)

≈ 2
|t|2

φ′(En)
78�8t÷9
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φ′(En) ≈ d(2knl)/dEn = l/kn	

kn ≈ π/l
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√
u > π

� ���%"� ���"���� !��
Γ = 2π|t|2/l2 < 2|t|2u/π �I������ ���	 |t| ≈ 0.1

� ��
Γ < 0.01u
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E ≈ En
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T = e2iχ
iΓ/2

E − En + iΓ/2
. 78�8tù9
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	� � ��"	
����
[

i
∂

∂t
+

∂2

∂x2
− u(x)

]

Ψ(x, t) = 0 78�8�ú9
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Ψ(x, 0) = AΘ(x ∈ l)[exp(ikx)+exp(−ikx)] � �" � A 6 
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G(x, t)
v

Ψ(x, t) =

l
∫

0

G(x− x′, t)Ψ(x′, 0) dx′, 78�8� 89
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t → 0
����+ ����� �

δ
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*	% v

limt→0G(x− x′, t) = δ(x− x′) �ÑE Ò ÓDGÔÒFAGE AFÕ ÖF>× F>B ���
���� &�
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Ψ(x, t) = ψ(x) exp(−ik2t),
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ψ(x)
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[

d2

dx2
− u(x) + k2

]

ψ(x) = 0. 78�8�Q9
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r =
±i|r| exp(iχ)
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r exp(ikl)
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r2 exp(2ikl)
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� � �� ����	��"� �
��� ���$���� ���'��� "��(
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φ(k) = 2χ + 2kl
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π(2n + 1) − iφ′′
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φ′′
"��(
� ���' ���
�
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E = En − iE ′′
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E ′′
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φ(E)
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	� 78�8tõ9 � I�"����	� � 
���

E = En − iE ′′
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φ′′ = E ′′φ′(En)
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φ′′
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X =
t exp(ikl)

1− rr0 exp(2ikl)
=

t exp(ikl)

1− |r| exp(iχr + iχ0 + 2ikl)
, 78�8��9
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r0 = exp(iχ0)
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r = |r| exp(iχr)
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χr+χ0 +2kl = 2πn
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|X| = |t|

1− |r| ≈
2
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[∂2/∂x2 + ∂2/∂z2 − u(z) + Ex + Ez]ψ(x, z) = 0, 78�8�ö9
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E = Ex + Ez
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ψ<(z) = X(kz)[exp(ik2z(z − l2)) + exp(−ik2z(z − l2))r23(kz)], 78�8�ù9
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X(kz) =
t02 exp(ik2zl2)

1− r21r23 exp(2ik2zl2)
. 78�8�ú9
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|X| =
∣

∣

∣

∣

t12 exp(ik2zl2)

1− |r21| exp(iχ23 + iχ21 + 2ik2zl2)

∣

∣

∣

∣

=
|t12|

1− |r21|
≈ 2

|t12|
. 78�8�89
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E ′′ =
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2φ′(En)
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� �� ��	 �����
E ′′
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4πψ(r) =

∫

x>0

dx′
[

ψ(r′)
d

dz′
G(r − r′)−G(r − r′) d

dz′
ψ(r′)

]

, 78�8�ö9
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G(r − r′) = −4πδ(r − r′), 78�8�÷9
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exp(ik|r − r′|)
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i

2π
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d2r′‖

∫

d2p‖
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1 +
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p⊥

]

exp(ip(r − r′)) exp(ik‖r
′
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d

dz′
ψ(x′, z′)|z′=0 = ik2z>t21(kz>)X(kz) exp(ik2z>l2)r23 exp(ikx>x), 78�8õQ9
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ψ(r) = −it21(kz>)

4π
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−∞

X(kz)dpx
px − kx − ik′′x

exp(ipr)

[

1 +
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pz

]

exp(i(kx> − px)b), 78�8õt9
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px = k cosϑ
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ψ(r) ≈ −it21(k sinϑ0)

4π

π/2
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0

X(k sinϑ)dϑ
sinϑ+ sinϑ0 − ik′′z/k
cosϑ− cosϑ0 − ik′′x/k

exp(i(kx> − px)b) exp(ikϑr),

78�8õ�9



¬¬ í¸²î² ­® ï²¾¾´ðµ¶´ ¾À²¸ð±µ¹½ ñ²¾°¶»ò µ² ¹ó µ¹º ´±µòô ¾¶ ¾°´º²ô
�"�

ϑ0

6 ���� �
��'(�
	� ��"�%+��� 
� ���
� 	
kϑ

6 ���
��� ��
��� "�	
�
k
� 
�����$��

� ��" �
��'��+	� �����

ϑ

 ������
���	 � ����
���	 ��"�
	� ����%"� ���"���� !�� ������
���' 
� �	 
� ���
 � ������%+	 � 
�����+ �

� !���	������
���	 ��" �
��'��+	� �����
ϑ
� ���
�

dw(ϑ)
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exp(−2bk′′x)

(4π)2
|t21(k sinϑ0)X(k sinϑ0)|2

(sinϑ+ sinϑ0)
2 + (k′′z/k)

2

(cosϑ− cosϑ0)2 + (k′′x/k)
2
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2k2zl2 = 2πn
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Γ ≡ k′′x
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2k2
z

4πnk2
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√
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√
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√
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)
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(
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� �����"��� � −→r0 	� 78�÷9 v

R(qz) =
qz − q′z
qz + q′z

= exp(−2χ), 78�QQ89
�"�

χ = arcsh(q′z/
√
u)

� �
q′z =

√

q2
z − u

� ø���	��"� ����(�
	� ���	�	� ��
qz

� �"
�
� � ��$�
��'
�
qz
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� � � ���	�	� ��
q‖

� �� 	 ����	��"� "��(
����' &�

*	� 
q = |q‖|

v
R(qz) = exp(−2χ(q))

� �" �
χ(q) = arcsh(

√

k2 − q2 − u/√u).��������	� ���!� �����
w
� �� � � ���'#	� ��������

1/w
���"� ���
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*		 
����
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 ��	�����	!��
	 �
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2χ
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��� ��!
	 ��
�	����
q = k‖ = (kx, 0)

�������� &�

*		 �����
	!	�#	�' �	
� 
�� !��
�� v
2χ(q) = 2χ0 − (q − k‖)ξ

� �"�
χ0 = arcsh(k′z/

√
u)

�
ξ =

(ξx, 0)
�

ξx = −2
d

dqx
χ(q)|q=k‖

=
2kx
kzk′z

.
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k2
z < u

� 
��" � 	���� ����� ���
�� ����(�
	� � !	���
k′z

� � ������ � 
	�
	
ξx

� ���
������ �
	���	 v
k′z = ik′′z = i

√

u− k2
z

�
ξx = −iξx = −2ikx/kzk

′′
z

� I�"����	� ��	���	!	
� � 	
������ 78�QQú9 � ��	��" �� ��� 
 �	"�

ψ0(x, z, t) =

∞
∫

−∞

R(kz)d
2q‖

2πw2 cos θ
exp

(

−(qx − kx)2

2w2 cos2 θ
− q2

y

w2

)

exp(iq‖r‖ − i(qx − kx)ξ + iqzz − iωt).
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*		 v

ψ(r‖, z = 0, t) = R(kz) exp

(

−w2

[

(x− ξ)2 cos2 θ

2
+
y2

2

])

exp(ikxx− iωt), 78�QQt9
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�� ���" � �����	��� � 
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x
�� ��
�# �
	% 
 *�
��� ���$" � ��"�%+� &�

*		 
� ���	!	
�

ξ = 2kx/kzk
′′
z

� 	 ���+ �
	� ��� ���'# � � !�� ��
'# �
k′′z

��� � � !�� ��	(�
kz
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kc =

√
u
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	� ��	 ���� �
��������� ��!
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��'
�� � � &���

kxx
��("�����
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kxξx
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z > u
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� 78�QQú9 ���	�������� &�

*	� 

ψ0(x, z = 0) =

∞
∫

−∞

R(kz) d
2q‖

2πw2 cos θ
exp

(

−(qx − kx)2

2w2 cos2 θ
− q2

y

w2

)

exp
(

iq‖r‖ + (qx − kx)ξx
)

, 78�QQ�9
�"� "�� �������� ���+ �
 �����

� �
�(	���'

exp(−iωt) � I���� 	
����	����
	� ��
d2q‖����!���

ψ0(x, z = 0) = R(kz) exp(ξ2
xw

2 cos2 θ/2) exp

(

−w
2

2
[x2 cos2 θ + y2]

)

exp
(

i(kx + ξw2 cos2 θ)x
)

.
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2ξw2 cos2 θ
� 	 �����������
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kz
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	� ������� � ����(�
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χ

	� 78�QQ89 �:��	 �� �� ���"��(	�	 �����(�
	� "� 
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*		 ����� ����(�
	� ������(�
	�
2χ(q)

������"�	�� ��	 |k′z| � w
� � ��	

k′z = 0
�
� ������ ����� � ���
��'
�

ξx
� ��� ��!
� �����"	��� � )��	�	 ��� ��!
	 ��
������'

χ
��(
� �����
�	�	�����'����(�
	��

χ(q) =
√

q2 − 2qxkx
� I���!�
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� � ,��" ���
��� &�

*		 �
��������� �	�'
� "�&���	����
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� ��
'# � �����(�
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ξx =
2kx
kzk′′z

� 2kx
kzw

≈ 2

w cos θ
.
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	�

R(qz) = r01 +
(1− r2

01)r12 exp(2iqz1d)

1− r10r12 exp(2iqz1d)
=

r01 + r12 exp(2iqz1d)

1− r10r12 exp(2iqz1d)
, 78�QQõ9

�"�
r01 = −r10 =

qz − qz1
qz + qz1

, r12 =
qz1 − qz2
qz1 + qz2

, qz1,2 =
√

q2
z − u1,2.

��� 	
�������� ���!� � 
��" �
q2
z−u1 � w2

	 �"
������

�
u2−q2

z � w2
� I�	 ��	� �����	������	��"� ����(�
	� �� ��"��(
	 � ��������	� �����' ��"�� �"	
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�!	�� 	 ����	��"� 78�QQõ9 ��(� "��(
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R(qz) = exp(2iqz1d−2iφ12)
1 + r01 exp(−2iqz1d+ 2iφ12)

1 + r01 exp(2iqz1d− 2iφ12)
= exp(2iqz1d−2iφ12−2iφ02), 78�QQö9

�"�
φ12 = arcsin (q′z2/

√
u2 − u1)

�
q′z2 =

√

u2 − q2
z

�

φ02 = arcsin

(

r01 sin(2qz1d− 2φ12)
√

1 + r2
01 + 2r01 cos(2qz1d− 2φ12)

)

.

�������� & ���
2qz1d − 2φ12 − 2φ02

	� 78�QQö9 ��
q‖ − k‖

� �" �
k‖ = (kx, 0)

	 ����
	!	����'�	
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�� ��	��	(�
	�� � ����!��� ���+ �
	�

ξx =

[

2kxd

kz1
+

2kx
kz1k′z2

]

1 + r01 cos(2qz1d− 2φ12)

1 + 2r01 cos(2qz1d− 2φ12) + r2
01

.
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ψ0(r, t) =

∫

a(q,k) exp(iqr − iωqt) d3q,

� 
������ ��� ������

��
q = (q‖,−qz)


����	�	�� 	
ωq = q2/2

� ) 
�!����� 
��&&	*	�
$���
a(q,k)

������� �������� &�

*	%

a(q,k) =
1

(2πw2)3/2
exp(−(q − k)2/2w2),

�"�
k = (k‖,−kz)

�
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���"	
��
�� �������
���� ��������
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ψ0(r, t) =
1

(1 + iw2t)3/2
exp

(

− w2

2(1 + iw2t)
(r − kt)2 + ik0r − iωkt

)

,

�"� !��
�
w2t

����
���	��%� ��������
	� ��
��� � H ���� �� ��"�� �!	���'
w
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$*		 � ���"� 7z = 09 ������	��� v

ψ(r‖, z = 0, t = 0) = exp

(

−w
2

2
r2
‖ + ik‖r‖

)

.
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ψr(r, t) =

∫

R(qz)a(q,k) exp(iqrr − iωqt) d3q,

�"�
qr = (q‖, qz)

�
qz
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R(qz)
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χ = iφ

	
φ =

arcsin
(

√

1− q2
z/u
) � ��"�� �!	���'

w
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2φ(qz)
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2φ(qz) = 2φ(kz)− ζz(qz − kz)
� �" �

ζz = 2/k′z = 2/
√

u− k2
z

������'
ψr

��(
� �����	���' � �	"�
ψr(r, t) ≈ R(kz)

∫

a(q,k) exp(iqrr + iζz(qz − kz)− iωqt) d3q.
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ψr(r, t) = R(kz) exp

(

−w
2

2
(r + ζ − kt)2 + ikr − iωkt

)

,
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k = (k‖, kz)
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|ψ(r)〉 =
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ψu(r)

ψd(r)
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s(r) = 〈ψ(r)|σ|ψ(r)〉,
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σ = (σx,σy,σz)
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B = B(x, t)
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ψd(x) = 0.
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Î
� u���
�
	� "��(
� ���' ������"�	�� ��	 �%���

|ξ0〉
� 	 ������ "��(
� ���' ������"�	�� ����	!
�� ����
����
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σxσy = iσz, σyσz = iσx, σzσx = iσy, σ2
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f(aσ)f(−aσ) = f(a)f(−a). 7Q �t�9
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(

k̂1(−σB1) + k̂2(−σB2)
)(

k̂1(σB1)− k̂2(σB2)
)

=

=
1

N

(

k1(−B1)k1(B1)− k2(−B2)k2(B2)− k̂1(−σB1)k̂2(σB2)) + k̂2(−σB2)k̂1(σB1)
)

=
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k1(−B1)k1(B1)− k2(−B2)k2(B2) +
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σB2
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1 k
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k1(±B1) (k2(B2)− k2(−B2)) , 7Q ��ú9
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Rud =
k1(B1)

k1(−B1)
|〈ξu|r̂|ξd〉|2, Rdu =

k1(−B1)

k1(B1)
|〈ξd|r̂|ξu〉|2. 7Q �� 89
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X̂ = exp(ik̂2d)t̂+ exp(ik̂2d)r̂
′ exp(ik̂2d)r̂

′X̂, 7Q ��Q9
R̂ = r̂ + t̂

′
exp(ik̂2d)r̂

′X̂, T̂ = t̂
′
X̂, 7Q ��t9�"�

t̂ = (k̂1 + k̂2)
−12k̂1, t̂

′
= (k̂1 + k̂2)

−12k̂2, r̂ = (k̂1 + k̂2)
−1(k̂1 − k̂2) = −r̂′, 7Q ���9

k̂1 =
√
k2 − 2σB1

�
k̂2 =

√
k2 − u0 − 2σB2
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X̂ =
(

Î − exp(ik̂2d)r̂ exp(ik̂2d)r̂
)−1

exp(ik̂2d)t̂. 7Q ���9
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T̂
v

R̂ = r̂ − t̂′ exp(ik̂2d)r̂
(

Î − exp(ik̂2d)r̂ exp(ik̂2d)r̂
)−1

exp(ik̂2d)t̂,

T̂ = t̂
′
(

Î − exp(ik̂2d)r̂ exp(ik̂2d)r̂
)−1
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Θ(0 ≤ x ≤ d)|Ψ(x)〉 =

[

eik̂2(x−d) + e−ik̂2(x−d)r̂′
]

X̂|ξ0〉 =

=
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eik̂2(x−d) + e−ik̂2(x−d)r̂′
] (

Î − eik̂2dr̂eik̂2dr̂
)−1
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X̂ = exp(ik̂l)t̂1 + exp(ik̂l)r̂1 exp(ik̂l)r̂2X̂, 7Q ��÷9
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X̂ =
(

Î − exp(ik̂l)r̂1 exp(ik̂l)r̂2

)−1

exp(ik̂l)t̂1. 7Q ��ù9
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R̂12 = r̂1 + t̂1e
ik̂lr̂2X̂ = r̂1 + t̂1e

ik̂lr̂2

(

Î − eik̂lr̂1e
ik̂lr̂2

)−1

eik̂lt̂1,

T̂ 12 = t̂2X̂ = t̂2

(

Î − eik̂lr̂1e
ik̂lr̂2

)−1

eik̂lt̂1. 7Q ��ú9
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R̂12 = r̂1 + t̂1r̂2

(

Î − r̂1r̂2

)−1

t̂1, T̂ 12 = t̂2

(

Î − r̂1r̂2

)−1

t̂1, 7Q �� 89
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R̂
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X̂ = t̂+ r̂R̂X̂, R̂ = r̂ + t̂R̂X̂, 7Q ��t9
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r̂
	
t̂
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���+ ����� � ����
���	

(x, y)
����	� !����� �����
	 � )
�#
�� ����

B0

��(�����' 
�������
� ���	����'
� � u���
�
	� � ��"	
���� �
���	 ���"� 	���� �	"
(

d2

dz2
− u0 − 2b[σx cos(2qz + 2ϕ) + σy sin(2qz + 2ϕ)] + k2

)

|ψ(z)〉 = 0, 7Q ��õ9
�"�

u0

6 ���	!��
	 �"��
� ����
*	�� ���"� � ���	!	
�
π/q

����"����� # �� �	
���������+�
	� � H�� ��+
���	 �� ����	 
�!��'
�% &���
2ϕ

����
b
� ���"
� ������
���	 	"�� �"������ ��"��	�	 �
�(	���' Q �)�����'������ ���"������
	��

σx cos(2qz + 2ϕ) + σy sin(2qz + 2ϕ) = exp(−iσz(qz + ϕ))σx exp(iσz(qz + ϕ)), 7Q ��ö9
���"����	� |ψ(z)〉 � �	"�

exp(−iσz(qz +ϕ))|φ(z)〉 	 ��"����	� � 7Q ��õ9 � ) �����'���� ����$!	� ����
�
	�
(

d2

dz2
− 2iqσz

d

dz
− u0 − 2bσx + k2 − q2

)

|φ(z)〉 = 0. 7Q ��÷9
��"�� 	�
��' ��� ��# �
	� � �	"� ���
� � ���"�+ � �� ���
	*� ���"��� v

|φ(z)〉 = exp(i[a+ pσ]z)|χ〉, 7Q ��ù9
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p
� ��
	� ������� � |ψ(z)〉 =

exp(−iσz(qz + ϕ)) exp(i[a+−→p σ]z)|χ〉 � I�	
z = 0

	���� |χ〉 = exp(iσzϕ)|ψ(0)〉 � �����$�� ��# �
	� ����
�
	� 7Q ��õ9 ���	�������� � �	"�
|ψ(z)〉 = exp(−iσz(qz+ϕ)) exp(i[a+−→p σ]z) exp(iσzϕ)|ψ(0)〉 = exp(−iσzqz) exp(i[a+−→p ϕσ]z)|ψ(0)〉,7Q �õú9�"� −→p ϕσ = exp(−iσzϕ)−→p σ exp(iσzϕ)

�
H �� ���� !���� 
� �	 ���������

a
	 −→p � ��" ����	� ����(�
	� 7Q ��ù9 � ����
�
	� 7Q ��÷9 �) �����'���� ����!	�

−a2 − p2 − 2a−→p σ + 2qσz(a+−→p σ)− u0 − 2bσx + k2 − q2 = 0. 7Q �õ 89
��� ����
�# �
	� �
�	����
�
� !������ ����
�
	��

−a2 − p2 + 2q−→p z − u0 + k2 − q2 = 0, 7Q �õQ9
−2a−→p z + 2qa = 0, −2a−→p x − 2iq−→p y − 2b = 0, −2a−→p y + 2iq−→p x = 0. 7Q �õt9�� ���� ����
�
	 7Q �õt9 ���"�%� ����(�
	�

−→p z = q, −→p x =
ab

q2 − a2
, −→p y = i

qb

q2 − a2
. 7Q �õ�9

I�"����	� 	� � ����
�
	� 7Q �õQ9 � ����!	� ����
�
	� "��
a

−a2 + q2 − b2

a2 − q2
− u0 + k2 − q2 = 0, 7Q �õ�9

��# �
	� 
�������

a =

√

q2 +
K ′2 ±

√

K ′4 − 4b2

2
, 7Q �õõ9

�"�
K ′2 = k2 − u0 − q2

� N
�
 ��" 
��
�� "��(�
 ���' �����
 ��
 � !���� � ���"��'
�����!��
b = 0

���	!	
�
a
�����"��� �

k′ =
√
k2 − u0

� � ��	
K ′4 < 4b2

�
	��� !���'
a
��������(	���'
� �

�� "�� �����' ����	��"� ����(�
	� 	 ��������
	� � H�� ����� ���"����	� ���
���%&�

*	% � �	"�

Θ(z < 0)
(

exp(ik̂0z) + exp(−ik̂0z)r̂
)

|ξ0〉+ Θ(z > 0) exp(−iσzqz) exp(i[a+−→p ϕσ]z)t̂|ξ0〉,
7Q �õö9�"�

r̂
	
t̂

6 ����	!
�� ����	��"� ����(�
	� 	 ������
�
	� �����������

� �
k̂0 =√

k2 − 2B0σ
� � |ξ0〉 6 ���	����'
�� ��	
��
�� ������
	� ��"�%+� ���
� �

�������
	� 
�������
���	 &�

*		 7Q �õö9 	 �� ���	���"
� � ��!
�
z = 0

��	��"	� 
����
�
	��
1 + r̂ = t̂, k̂0[1− r̂] = [a− qσz +−→p ϕσ]t̂ = (a+−→p ′

ϕσ)t̂, 7Q �õ÷9�"�
−→p ′

ϕσ = e−iσzϕ(−→p xσx +−→p yσy)e
iσzϕ = a

b(σx cos 2ϕ+ σy sin 2ϕ)

q2 − a2
+ iq

b(σy cos 2ϕ− σx sin 2ϕ)

q2 − a2
.

7Q �õù9��# �
	�� ����
�
	 7Q �õ÷9 ��"��
t̂ = (k̂0 + a+−→p ′

ϕσ)−1 2k̂0, r̂ = (k̂0 + a+−→p ′
ϕσ)−1(k̂0 − a−−→p ′

ϕσ). 7Q �öú9
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b = 0
����!���

t̂ =
2k̂0

k̂0 + k′
, r̂ =

k̂0 − k′
k̂0 + k′

, k′ =
√

k2 − u0, 7Q �ö 89
!�� ��������

� � ���
��'
� ��	

b = 0
���+�
	� 
� 	����� 
	
�
� ���	 � � ��
� ������	�' �!�� � ���"���

q = 0
����!�%��� &������ "�� ����(�
	� 	 ��������
	� 
� ������
���	���
��� � ������

� 
����
	!�

���'%

b
�

�{|2O x5yx /{ T|25yN} |2��x.2 y�5�{|y �x|12.2
J� ����������	 ���
�� ��" �%+�% 
� ���
	*� ���"��� ����� � H�� ����"���
	� ����	��"����(�
	� 	 ������
�
	� ���� 
�
�!
� ���+	
�

L

�(
� ��
(� �����������%+	� ��$��	��"� "�� ���
� � ��"�%+� 
� ���
	*� ���"��� 	�
���	 ��+ ����� � O���� 
� �	 	� ���������	� ���
���% &�

*	% �
���	 ��+ ����� � ����������
�%+�%�� ����� v

|ψ(z)〉 = exp(−iσz(qz + ϕ)) exp(−i[a+←−p σ]z) exp(iσzϕ)|ψ(0)〉, 7Q �öQ9
�"� ←−p 6= −→p � )����	� 	 ��"����	�

exp(−i[a+ P − σ]z)|χ〉 � ����
�
	� 7Q ��÷9 � ����!	�
−a2 − p2 − 2a←−p σ − 2qσz(a+←−p σ)− u0 − 2bσx + k2 − q2 = 0. 7Q �öt9

)	"
� � !�� ����!�

�� ����
�
	� ���	!����� �� 7Q ��÷9 ���'
� �
�
��
q
� ��
	� ������� ���� ��# �
	� ���
�

←−p z = −q = −−→p z,
←−p x =

ab

q2 − a2
= −→p x,

←−p y = −i qb

q2 − a2
= −−→p y. 7Q �ö�9

�����' ��(
� ���	���' ���
�% ���
���% &�

*	% "�� ���!�� ��"�
	� ���
� 	�
���	���
��� v
Θ(z < 0)t̂

′
exp(−ik̂0z)|ξ0〉+Θ(z > 0) exp(−iσzqz))

[

exp(−i[a+←−p ϕσ]z) + exp(i[a+−→p ϕσ]z)r̂′
]

|ξ0〉.7Q �ö�9,#	�
� ��� &�

*		 
� ���
	*� ���" ��� "���
t̂
′
= [k̂0 + a+−→p ′

ϕσ]−1[2a+−→p ′
ϕσ +←−p ′

ϕσ], r̂′ = [k̂0 + a+−→p ′
ϕσ]−1[a+←−p ′

ϕσ − k̂0]. 7Q �öõ9
,����#�

� ��
� � !�� ���	�� "��� ���	 ���� �
���	 ���"� ��"�� ���+��'�� �� !����� �����
� � ) ���� ���!��

q
	���
	� �
�
 � 	 ��������� −→p 	 ←−p ����
�%��� ������	 �

�{|2O x5yx /{ H.20{y51y 1/5x�5/C {/.º y5}
�� "�� ����(�
	� 	 ������
�
	� �����	

� 
�
�!
� ���+	
�

L
� H �� ����� 
�����"	����!	��	�' ����(�
	� �� ����� ������
���	 ���"��� � ��!��� 
���"	
�� �"��
� ������	�'� ��!
�

z = L
� )��
���� &�

*	� �
��� ��� ��!
	 ���
�

Θ(z < 0) exp(−iqσzz)
[

exp(−i[a+−→p ϕσ]z)r̂′′ + exp(i[a+−→p ϕσ]z)
]

ξ0+Θ(z > 0) exp(ik̂0z)t̂
′′
ξ0,7Q �öö9��	!��

t̂
′′ 6= t̂

′ �
r̂′′ 6= r̂′

	 ����
ϕ

6 	
� � !�� 
� ���"
� ������
���	 � u����	� �#	�
	��	��"�� 
 ����
�
	��
t̂
′′

= 1 + r̂′′, k̂0t̂
′′

= −[a+←−p ′
ϕσ]r̂′′ + a+−→p ′

ϕσ. 7Q �ö÷9
�� ��# �
	� ���
�
t̂
′′

= [k̂0 + a+←−p ′
ϕσ]−1[2a+←−p ′

ϕσ +−→p ′
ϕσ], r̂′′ = [k̂0 + a+←−p ′

ϕσ]−1[a+−→p ′
ϕσ − k̂0]. 7Q �öù9
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exp(iqσzL) exp(i[a+←−p ϕσ]L)r̂′′. 7Q �÷ú9
�����' ��������	� ����(�
	� 	 ������
�
	� �����	

� ���+	
�

L
� I�	��� � !�� 
����"
� ������
���	

ϕ = 0
� ���" � � ����� ���
	*� ���"���

ϕ = qL
� ����
�!	� ���
����" �%+�% 
� �����% ���
	*� ���"��� � !����

X̂
� H �� 
�� ��(
� ������	�' ����
�
	�

X̂ = exp(−iqσzL) exp(i[a+−→p σ]L)t̂+exp(−iqσzL) exp(i[a+−→p σ]L)r̂′ exp(iqσzL) exp(i[a+−→p qLσ]L)r̂′′X̂,7Q �÷ 89
������ 	���� ��# �
	�
X̂ =

[

1− exp(−iqσzL) exp(i[a+−→p σ]L)r̂′ exp(iqσzL) exp(i[a+←−p qLσ]L)r̂′′
]−1

exp(−iqσzL) exp(i[a+−→p σ]L)t̂7Q �÷Q9)���(�
	� 7Q �÷Q9 ��(
� ��
(� ���"����	�' � �	"�
X̂ = exp(−iqσzL)X̂

′ � �" �
X̂

′
= exp(iqσzL)X̂ =

[

1− exp(2iLa) exp(i−→p σL)r̂′ exp(i−→p σL)r̂′′−qL
]−1

exp(i[a+−→p σ]L)t̂,7Q �÷t9��	!��
r̂′′−qL = exp(iqσzL)r̂′′ exp(−iqσzL) = [k̂−qL + a+←−p ′

σ]−1[a+−→p ′
σ − k̂−qL], 7Q �÷�9

k̂−qL = exp(iqσzL)k̂0 exp(−iqσzL). 7Q �÷�9ø���	��"� ����(�
	�
R̂

	 ������
�
	�
T̂

����(�%��� � ����+'%
X̂

���"�%+	� ����$��� v
R̂ = r̂ + t̂

′
exp(i[a+←−p σ]L)r̂′′−qLX̂

′
, T̂ = exp(−iqσzL)t̂

′′

−qLX̂
′
, 7Q �÷õ9�"�

t̂
′′

−qL = exp(iqσzL)t̂
′′
exp(−iqσzL) = [k̂−qL + a+←−p ′

σ]−1[2a+←−p ′
σ +−→p ′

σ].)�� 	���(�
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�

ψ0 =

(

exp(ik̂+
0 x) 0

0 exp(−ik̂+
0 x)

)( |ξ0〉
ρ̂|ξ0〉

)

, 7Q �÷ö9
� ������ ��

n
$ ������
���	 ���"��� 6

ψn =

(

exp(ik̂+
n (x− xn)) 0

0 exp(−ik̂+
n (x− xn))

)(

τ̂ |ξ0〉
0

)

, 7Q �÷÷9
�"� |ξ0〉

6 ���	����'
� ��	
�� � ����
���	��%+	 �����	��*	% ��"�%+��� 
� ���
� �
ρ̂
	
τ̂
6 ����	*� ����(�
	� 	 ������
�
	� ��� �	����� � 
������ 
�����"	�� ��!	��	�' �

)��
���� &�

*		 7Q �÷ö9 	 7Q �÷÷9 �����
� "��� � "����� !���� ���!
�% ����	*�
M̂

v

Ξ0 = M̂Ξn ≡
( |ξ0〉
ρ̂|ξ0〉

)

=

(

M̂11 M̂12

M̂21 M̂22

)(

τ̂ |ξ0〉
0

)

, 7Q �÷ù9
�"� ���
	

M̂ij
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2×2

� �� ����� ����
�#�
	�
������" ����

� ���"���� !��
τ̂ = M̂−1

11 ,
	
ρ̂ = M̂21M̂

−1
11 . 7Q �ùú9
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	� ������� � !���� 
� �	
ρ̂

	
τ̂
� 
�(
� 
� �	 ����	*�

M̂
������
���	

4×4
� H �� �����
�����"	�� �#	�' ���
���% &�

*	% 7Q �8úú9 
� ���� ���
	*�� ���"��� �

I��"����	� ���
���% &�

*	% �
i
$� ���������'
	
� � �������(�

�� ������ ��

i
$ ���
	*� ���"��� � ��!
�

ai
� � �	"�

(

exp(ik̂i(x− ai))Âi + exp(−ik̂i(x− ai))B̂i

)

|ξ0〉. 7Q �ù 89
���" � � �	�� ���	����'
���	 |ξ0〉
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�
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exp(ik̂i−1di−1)Âi−1 + exp(−ik̂i−1di−1)B̂i−1 = Âi + B̂i,

k̂i−1

[

exp(ik̂i−1di−1)Âi−1 − exp(−ik̂i−1di−1)B̂i−1

]

= k̂i

[

Âi − B̂i

]

,

�"�
di

6 #	�	
�
i
$�� ���� � �� ��	� "��� ����
�
	 ���"���� !��

Âi−1 = exp(−ik̂i−1di−1)

(

1

2

[

1 + k̂−1
i−1k̂i

]

Âi +
1

2

[

1− k̂−1
i−1k̂i

]

B̂i

)

, 7Q �ùQ9

B̂i−1 = exp(ik̂i−1di−1)

(

1

2

[

1− k̂−1
i−1k̂i

]

Âi +
1

2

[

1 + k̂−1
i−1k̂i

]

B̂i

)

. 7Q �ùt9
J���	*�

Âi
	
B̂i
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 �������	
�� � 	�	 !���������
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��� �

Ξi =

(

Âi
B̂i

)

,

���" � ����
�
	� 7Q �ùQ9 	 7Q �ùt9 ��<�"	
�%��� � �"
� v
Ξi−1 = Q̂i−1

i Ξi,
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i
∂

∂t
|Ψ(t, x)〉 =

(

−1

2

∂2

∂x2
+
u(x)

2
+ σB0(x) + σBrf(t, x)

)

|Ψ(t, x)〉, 7Q �ù�9
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������ ��+ ����� ���"������
� ����
*	����

u(x)
� � ���� ����	�� 
� "�� ��������%+	� ��"
� � ������

�� ����

B0
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� ���	�	� �� �����
	 � � "����� � ��"	�!�����
�� ����
Brf
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�
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0 ≤ x ≤ D 7�	� � Q �� 9 � I�	����
B0(x) +Brf(t, x) = Θ(0 ≤ x ≤ D)[B0 +Brf(t)], 7Q �ùõ9�� � � ���� � ��� ������	 
� ���	��� �� 
���"	
��� ����� ���� � ����(	� "�� �������� � !��

u = 0
� � "�� 
�

���
���	 ��������� � !���� ����

B0

	
Brf

	���	 
����
�
��
(0, 0, B0)	

Brf(cos(2ωt), sin(2ωt), 0)
� �� � � ������

�� ���� 
�������
� �"��' ��	

z
� � ��
��� ��"	�!�$����
��� ���� ���+����� � ����
���	

(x, y)
����	� !����� �����
	 � ������ !������ 
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� � 
� �
2B0

�

6
B0

�



�
	

1

Brf-

� -

eikx|ξ0〉

e−ikxρ̂|ξ0〉 eik(x−D)τ̂ |ξ0〉

D -�

u

6

?

×ØÙ Ú m Ú¬ Û ´Þ1âc ßàØß Ø ç1ÝçæÙèâàØß àß7Þ1Ýàâ 2â9àØÞàê2Ø çÝãå2Ø 3 ÙÝÙ1ß.ÝÞÝëßààê2Ø é çãÝÙèÝ2 ÙãÝß
0 ≤ x ≤ D

Ú ü â9àØÞàêß çÝãå ÙÝ.ß1c âÞ çÝÙÞÝåààæ4 ÙÝÙÞâéãå45 æ4
B0 = (0, 0, B0)

Ø 1â.ØÝëâÙÞÝÞàæ4
Brf = Brf(cos(2ωt), sin(2ωt), 0)

Ú -1Ý2ß 2â9àØÞàêb çÝãß7 ÙãÝ7 2Ýc ßÞ Þâèc ß ÙÝ.ß1c âÞä éß5 ßÙÞéÝ Ù çÝÞßàáØ6âãÝ2
u/2

Ú �çØà àß7Þ1Ýàâ 3 çâ.â45 ß9Ý àâ ÙãÝ7 Ùãßéâ 3 2Ýc ßÞ wêÞä Ý1ØßàÞØ1Ýéâà ç1ÝØ8éÝãäàÝ Ú ÜÝãå1Ø8âáØåàß7Þ1Ýàâ ÝçØÙêéâßÞÙå ÙçØàÝ1Ý2 |ξ0〉

H�� ��# �
	� ����
�
	� 7Q �ù�9 
�� ����������� ���
���� &�

*	� ��"�%+� !���	*� �
�����% �� ��"�"	� � �	"�
Θ(x < 0) exp(ik0x− iE0t)|ξ0〉, 7Q �ùö9

�"� |ξ0〉
6 ��	
�� ���	����'
� �����	��*		 	

E0 = k2
0/2

�

F/|~�.2 �2�y I ��������	� ���� ����������
�

� ���!� 
E0 � B0 � Brf

� 
��" � 	�$��
�
	� �
�����	 
� ���
� � �����%+��� � ����
B0

� ���
����(	�� ���� � ���" � ��(
����	���' ���
���% &�

*	% � �	"�
|Ψ(x, t)〉 = exp(ik0x− iE0t)|Ψ(t)〉 7Q �ù÷9
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id|Ψ(t)〉/dt = [σB0 + σBrf(t)]|Ψ(t)〉 7Q �ùù9� 
�!��'
�� �����	�� |Ψ(0)〉 = |ξ0〉
� ����
� ����� 
� ���
� � ���� �

H�� ��# �
	� ����
�
	� 7Q �ùù9 ������'������ ���
� ����������� ��("������ 7�� � ���$" �� Q �8�t9
σBrf(t) = Brf [σx cos(2ωt) + σy sin(2ωt)] = Brfe

−iωσztσxe
iωσzt 7Q �8úú9	 ���" �� ����
�!�
	�

|Ψ(t)〉 = e−iωσzt|φ(t)〉. 7Q �8ú 89I�"���
��
� 7Q �8úú9 � 7Q �8ú 89 � ����
�
	� 78�8�ù9 ��	��"	� �����"
�� 
 �	"�
id|φ(t)〉/dt = (σΩ)|φ(t)〉, 7Q �8úQ9

�"�
Ω = (Brf , 0, B0 − ω)

�
)���(�
	� � �
��
�� � ����� !���	 ����
�
	� 7Q �8úQ9 
� ���	�	� �� �����
	 � ���������# �
	� "�� |φ(t)〉 �!��	"
� v |φ(t)〉 = exp(−iΩσt)|φ(0)〉 � ��!��'
�� �����	� |Ψ(0)〉 = |ξ0〉�
�	����
�
� �����	% |φ(0)〉 = |ξ0〉

� I�"����	� ��� � 7Q �8ú 89 � ����!	�

|Ψ(t)〉 = e−iωσzte−iΩσt|ξ(0)〉 = e−iωσzt

[

cos Ωt− iΩσ
Ω

sin Ωt

]

|ξ0〉, 7Q �8út9
�"�

Ω = |Ω| =
√

B2
rf + (δω)2

�
δω = B0 − ω

�I��"����(	� � !�� ��	
 ����	!
� !���	*� ��	�
�	����
 ��������'
� ���%
B0

� �� � �
|ξ0〉 = |ξu〉

� J
�(	���'
σΩ = Brfσx + δωσz

� 7Q �8út9 ��" ��(	� 
�"	���
��'
�% ����	*�
σx

� 
������ ��	������ ��������� �����	��*		 � I������ ������
���' ���������� ��	
������ �������
	� � ����� � ��!�
	� �����
	
t = t1 = D/k0

���
�

wfl =

∣

∣

∣

∣

Ωx

Ω
sin(Ωt1)

∣

∣

∣

∣

2

=
B2

rf

B2
rf + (ω −B0)2

sin2

(

√

B2
rf + (ω −B0)2 t1

)

. 7Q �8ú�9
)���(�
	� 7Q �8ú�9 ���"�������� ���� ����#� 	�����
�% &������ ���	 � H�� ���
������������� ��	
� 7wfl = 19 
�����"	�� � !���� �����
��	�' �����	� ����
�
�� "��

ω
	
t1
v

ω = B0

	
t1Brf = πn+ π/2

� �"�
n

6 *���� !	��� �
-|x/�|2�/425yx 5xH/.3|y�/4255/T/ H��12 4 H/.5/0{� H/.3|y�/4255}C
,�����
� 7Q �8ú�9 � ��	 ����
�
�� 7ω = B09 ������
���' ���������� ��	
� ���
�

wfl = sin2 (Brft1) . 7Q �8ú�9
�
� ���	�	� �� �����
	 �������
	� 
� ���
� � 
���#
�

t1 = l/v0

� �" �
l
6 ���+	
� 
�$��#
	 	

v0

6 �
�����' 
� ���
� � :�������

� �(	"��' � !�� 
������	����

� ��!�

� ���
�� ����� 
���#
	 ����
���� 
������	����

�� � �"
�
� ��� ������"�	�� ���'
�� ��� ���!�� � ���	 �
�����' 
� ���
�� �
���	 ����
B0

� ���" �������� 
���#
� &�	�$���� � 
� ���	�	� �� �����	��*		 � !�� �� 	 ���"�������	 ��	 ����"� &������ 7Q �8ú�9 ���� ���"����(�
	� ������"�	�� � 
��" � 
	
��	!��
�� �
���	� 
� ���
�
v2

0/2
�
��� ���'$# � ���
	�
� ����
*	��'
� �
���		

2B0

� I�	 
	�
	� (� �
���	�� � 
�
	� ��� ����

� �
���	��� � ��'�������"
�� 
� ���
�� � 
�����"	�� �!	�����' 	���
�
	� �
�����	 
� $���
� � ���
	�
�� ���� � �� ���
� � �����	����

�� ��������'
� ���% �
���	 
���#
	 �����"��%��� 7	� �
�����'
v+ =

√

v2
0 − 4B0 < v09 � � 
� ���
� � �����	����

�� ����	� ��$

��
B0

� 6 ��
���%��� 7	� �
�����'
v− =

√

v2
0 + 4B0 > v09 � ���%"� ���"���� !�� 
� ���
�
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�� ����� v

t+ = l/v+	
t− = l/v−
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���' �����
 � ��(
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Brft+ = π
� �

Brft− = π/2
� �� 
� ���
� � �����	����

�� �� ���% � 
� 	���
�� ���% ����$�	��*	% � � 
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	 ��
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Brft+ = 3π/2
� �

Brft− = π
� �� 
� ���
� ������	����

�� �� ���% � 	���
�� ���% �����	��*	% 
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�% � � 
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���#
	 ��	
$&�	����� ��� 
� ���
� �
�(���� �����	����

��	 ����	������(
� �
����

��� ���%
���#
	

B0

�
!y5xC5/ /0Ny..y|� º xx H/.x
J� ����������	 ��������� ��	
� �� ���+�%+���� ��"	�!�����
�� ����

Brf = Brf(cos(2ωt), sin(2ωt), 0).

�� ����� "��� ���!
� 	����'������ �	
� 
� ��*	��	��%+�� ����
Brf = Brf(cos(2ωt), 0, 0)

�� 	
� 
� ��*	��	��%+�� ���� ��(
� ���"����	�' � �	"� ��������	*		 "��� ���� � ���$+ �%+	��� � ����	������(
�� 
�������
	�� v

Brf = Brf(cos(2ωt), 0, 0) =
1

2
Brf(cos(2ωt), sin(2ωt), 0) +

1

2
Brf(cos(2ωt),− sin(2ωt), 0).

��
	� ������� � 
���"� � ����� � ���+ �%+	��� ����	� !����� �����
	 � �� � � � �� (� ���$��
�� !�� 	 ���*���	��%+	 ��	
 � 	������ ���� � ���+ �%+���� � �����
�% �����
��
)�	�
	� �����"
��� 
� �����	��*	% 
� ���
� ��(
� �*�
	�' ��	 ����+	 &����$�� 7Q �8ú�9 � ��"����	� � 
��

ω = −B0

� )�����
���' ���������� ��	
� ��" "� ���	�� ��������� ���
�
wfl =

∣

∣

∣

∣

Ωx

Ω
sin(Ωt1)

∣

∣

∣

∣

2

≈ B2
rf

4B2
0

sin2(2B0t). 7Q �8úõ9
J� �	"	� � !�� ������
���' ������
	� ����	������(
� 
����
�
�� ��	
� 
� ��������$"	�

B2
rf/4B

2
0 � 1

� N
�!	�� ����	������(
� ���+�%+���� ���� ��	��"	� 
 �&&�
�	�
� "������	��*		 
� ���
� ����"
�
δP = B2

rf/4B
2
0 � 1
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� ���
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��� 
��
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� ±2B0

� ) �����	�� ����
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�� �
ω = B0

���� ���"����(�
	� ��	��"�� 
 �"	
�
����� �����'����� :��	 (�
ω 6= B0

� �� �����'��$�� ����!���� ���
��	 � �	(� ��"�� ��
���
� � !�� 	���
�
	� �
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�
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H�� ���� !���� "�
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�����"	�� ������"	�' ��% "	
��	
� ���	��"� ���	� 
� $���
� � �����	 ��	
$�������� � � �
�!	�� ��#	�' ���
�� ����
�
	� � ��"	
���� 7Q �ù�9� ��"�%+� ����
� ���
� 7Q �ùö9 � ���	����'
� �����	��*	� |ξ0〉

� �� ���("� !����# ��' ���
�� ����
�
	� � �����
� ����� ������� �����("�
	 ���"��' � 
�
 ��(�� ��$���"��' ���
���� &�

*	� 
� ���
� � ���# �"# ��� !���� ����
�
�
� ��	
$������� � ���	��"�%+	 
� ���
 ��	�������� ����
� ���
� 7Q �ùö9 � ���
���� ��
�����
k0

� �
���	� 
E0 = k2

0/2
� �����	��*	� |ξ0〉 = |ξu〉

� ��������'
� ������

��� ���%
B0

��	
$�������� �	 �� �
��� � !�� ��	 ���������� ��	
� �
���	� 
� ���
� ���
'# ����� 
� ���	!	
�
2ω

�)��
���% &�

*	% ��"�%+��� 
� ���
�
exp(ik0x − iE0t)|ξu〉

��(
� ���	���' ��
(�� �	"�
exp(ik̂x− iE0t− iω(σz − 1)t)|ξu〉, 7Q �8úö9�"�

k̂ =
√

k2
0 + 2ω(σz − 1)

� ���
��'
� ���
��'
�
σz

��	 "� ���		 
� |ξu〉 ���
� �"	
	*� �I�	 ���� ���
���� &�

*	� 
� ���
� � ���# �"# ��� !���� ��	
$������� � ��	
	���� �	"
|Ψ(x, t)〉 = exp

(

ik̂x− iE0t− iω(σz − 1)t
)

τ̂ |ξu〉. 7Q �8ú÷9
H �����	� � !�� ����	*� ������
�
	� ���
�
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� � ��������
E = E0 + ω7�����������%+	� ����	*� ����(�
	� 	 ������
�
	� ����
�!	�

ρ̂d
	
τ̂d9 � �����("�� �
�$���	!
� ����� 
�
 ��� ���� �"���
� � ���"��� Q �Q �8� ����!	� ����	!
�� ����	��"�

ρ̂u,d = ρ̂
u,d
b0 + τ̂ u,d0b

exp(ik̂′u,dD)ρ̂u,d0b

1−
[

exp(ik̂′u,dD)ρ̂u,d0b

]2 exp(ik̂′u,dD)τ̂ u,db0 , 7Q �8Q�9
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τ̂ u,d = τ̂
u,d
0b

1

1−
[

exp(ik̂′u,dD)ρ̂u,d0b

]2 exp(ik̂′u,dD)τ̂ u,db0 , 7Q �8Qõ9
�"�

ρ̂
u,d
b0 = (k̂u,d + k̂′u,d)

−1(k̂u,d − k̂′u,d) = −ρ̂u,d0b , 7Q �8Qö9
τ̂
u,d
b0 = (k̂u,d + k̂′u,d)

−12k̂u,d, τ̂
u,d
0b = (k̂u,d + k̂′u,d)

−12k̂′u,d, 7Q �8Q÷9
k̂u,d =

√

k2
0 + 2ω(σz ∓ 1), k̂′u,d =

√

k2
0 ∓ 2ω − 2σΩ− u, 7Q �8Qù9

� 	
"�
��
b0, 0b

��
������ 
 ���
	*�� ���"��� ��("� ��
����� 	 ���'���� �� �����
����'��� 	 ��
���� �����������

� � I�	��
�� ������� ����	* I���	 � ��(
� 
� �	 �������	!
�� �����
�� ����	*
ρ̂u,d

	
τ̂u,d

� H 	���
��'
�� ����	!
�� �����
�� ����"���$%� ������
���' ����(�
	� 	�	 ������
�
	� ��� ���������� ��	
� � � 
�"	���
��'
�� 6� ����������� �
)�� ����	*�

M
������
���	

2×2
����� ���' ���"������
� � �	"�

M = aI+bσ
� �" �

I
6�"	
	!
�� ����	*� �

a
	
b
6 !����� ��������� � ,����������

� ������"� ��� ���������������	��*		 ��	����%��� ���������	

aI+bzσz
� � ������"� � ����������� 6 ���������	

bxσx + byσy
�

��������	� ����
���� ����(�

�� ���
 � 
��" � ��"�%+�� ���
� 	���� �	" 7Q �8Q�9 � ��$���	��*	� 7Q �88ù9 � I���� ����(�
	� !���' ���
� � ����!�%+�� �������� ������
	% � �� � ���� ���������� �����	��*		 � ��" ��(	� ��	
��
|ξel
r 〉 = αuρuu|ξu〉+ αdρdd|ξd〉, 7Q �8tú9

�"�
ρuu = 〈ξu|ρ̂u|ξu〉, ρdd = 〈ξd|ρ̂d|ξd〉.,�	
�� 7Q �8tú9 ���	!����� �� ��	
��� |ξ0〉

��"�%+� ���
� � 	 ������ �����	��*	� ���$
� � ����(�

� ��� ���������� ��	
� � ���	!����� �� �����	��*		 ��"�%+� � 
� ��� !���'����(�

� ���
� ����������
����� � �� (� �
���	� 	 �
�����'% � !�� 	 ��"�%+ �� v
|Ψel

r (x)〉 = ρuuαue
−iE0t−iω(σz−1)te−ik̂ux|ξu〉+ ρddαde

−iE0t−iω(σz+1)te−ik̂dxξd = e−ik0x−iE0t|ξel
r 〉.7Q �8t 89H ����� !���' ���
� ����!��� 
��������� ������
	% � ����������� ��	
� � :� ���
����&�

*	� ���
�

|Ψin
r (x)〉 = ρduαue

−iE0t−iω(σz−1)te−ik̂ux|ξd〉+ ρudαde
−iE0t−iω(σz+1)te−ik̂dx|ξu〉 =

= ρduαue
−i(E0−2ω)t−ik−x|ξd〉+ ρudαde

−i(E0+2ω)t−ik+x|ξu〉, 7Q �8tQ9�"�
ρdu = 〈ξd|ρ̂u|ξu〉, ρud = 〈ξu|ρ̂d|ξd〉,

k± =
√

2(E0 ± 2ω)
�
E0 = k2

0/2
� I����� ��������� 7Q �8tQ9 ����!��� ���������� �����	��*		

|ξu〉 → |ξd〉
� 	����
�
	�� ��"	�!�����
��� 
��
�� 	 ����"��
	�� 
� ���
� ����� ����"�� ������ �������
���� � � ������ 6 ���������� �����	��*		 |ξd〉 → |ξu〉 � �����+ �
	��
��
�� 	 ��
���
	�� �

ø
����	!
�% ����
���� 	���� 	 ���
���� &�

*	� �����+�

��� 
� ���
� � �����	� �!�� 	���
�
	� �
���		 
� ���
� ����� ������� 	 	����
�
	� ��"	�!�����
��� 
��
�� ���$
�
2ω

6 �
���		 
��
�� 	 
� ���	�	� ��
B0

� ��
B0

���	�	� ���'
� ������
���' �����+ �
	�	 	����
�
	� � 
� 
� �
���	� ��	
���� 
����
�
� 
� ���
� � ���� �����'��� ��# ��� ���$������ ���
	
#�% ����� ����"� &������ ���	 7Q �8ú�9 �
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þþy
 �y�ÿ�
þ�� ��� 	ÿ
���y �������ÿþ�� 7Q �8Qõ9J� 
� ��"�� ��!	����' ����	!
�� �����
�� ����	* 7Q �8Q�9 	 7Q �8Qõ9 � ��+ �� ���!�� ������	� ��� ��� � 
�� ��!�� 
��!	�'�� ��	��
��' ������� ����	* I���	 	 
��� ��� 
���$��"	�� "�� ��	��
	� �����������%+	� �
����	��
��� � ����
	!	��� ����	*� ������
�$
	� � ������ # �� ���!�� � 
��" � ����
*	��

u
����
 
��% 	

Brf � k2
0 − 2ω

� I�	 ���� ����������	� ���'
� ���!� � 
��" � ������
�
	� "������!
� ���	
� 	 �
���
���
��	 ��$������(�
	��	 �
���	 
���#
	 ��(
� ���
����!' � I�	 ���� �����		 ����(�
	� 7Q �8Qõ9��	��"	��� 
 �	"�
τ̂ u,d = τ̂

u,d
0b exp(ik̂′u,dD)τ̂ u,db0 , 7Q �8tt9�"�

τ̂
u,d
b0 =

2
√

k2
0 + 2ω(σz ∓ 1)

√

k2
0 + 2ω(σz ∓ 1) +

√

k2
0 ∓ 2ω

, τ̂
u,d
0b =

2
√

k2
0 ∓ 2ω

√

k2
0 + 2ω(σz ∓ 1) +

√

k2
0 ∓ 2ω

, 7Q �8t�9
�� � � � �����"
	� ����(�
	�� �� ���
������	

Brf

�I�	 ����
	� �
���	�� � 
��"� ��(
� ���
����!'
Brf

	
ω

�� ����
�
	% �
k2

0

� ����(�
	�
��"�� 
������ � � ����	*� ������
�
	�

τ̂
u,d
b0 = τ̂

u,d
0b = 1

� ) ���� ���!�� 7Q �8tt9 ���
�� �+ ����+� v
τ̂ u,d ≈ exp

(

ik̂′u,d(σΩ)D
)

,
�" �

k̂′u,d(σΩ) =
√

k2
0 ∓ 2ω − 2Ωσ. 7Q �8t�9

)�����'������ ����
�#�
	��	 7Q �tQ9 	 7Q �tt9 � ,�����
� 7Q �tQ9 �
k̂′u(σΩ) = K+

u,d + (Ωσ/Ω)K−
u,d,�"�

Ω =
√

B2
rf + (ω −B0)2

�

K±
u,d =

1

2
[k′u,d(Ω)± k′u,d(−Ω)], k′u(±Ω) =

√

k2
0 − 2ω ∓ 2Ω, k′d(±Ω) =

√

k2
0 + 2ω ∓ 2Ω.

) �����'���� ����	*�
τ̂ u,d

��	��"	��� 
 �	"�

τ̂ u,d = exp
(

ik̂′u,d(σΩ)D
)

= exp(iK+
u,dD) exp

(

iK−
u,dD

σΩ

Ω

)

. 7Q �8tõ9
;������ �
�(	�����

exp(iK+
u,dD)

��(
� ���
����!' � ���
��'
� � ����(�
	� "�� ������$
���	 ������
�
	� 	 ���������� ��	
� �
 
� ���"	�� ������� ����	*� ������
�
	� ��(
����	���' � �	"�

τ̂ u,d = exp

(

iK−
u,dD

σΩ

Ω

)

= cos(K−
u,dD) + i

σΩ

Ω
sin(K−

u,dD). 7Q �8tö9
I�	 ����
�
�� 7ω = B09 ����(�
	� 7Q �8tö9 ������������� 
 �	"�

τ̂ u,d = exp(−iϕu,dσx), 7Q �8t÷9�"�
ϕu,d = −K−

u,dD.

A|245x5yx 0 B /|~�./C �2�y
�����	��� 
 ����(�
	% 7Q �8tö9 � I��
��'
�

σΩ = σxBrf + σz(ω − B0)
� 	 
 ������������	
� ��	��"	� ���'
� ����	*�

σx
� ���%"� ����� ���"���� !�� ������
���' ������������	
� ���
�

w =
B2

rf

B2
rf + (ω −B0)2

sin2(K−
u,dD). 7Q �8tù9
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−K−
u,dD =

√

k2
0 ∓ 2ω + 2Brf −

√

k2
0 ∓ 2ω − 2Brf

2
D���"���������� � �	"�

−K−
u,dD =

2D
√

k2
0 ∓ 2ω + 2Brf +

√

k2
0 ∓ 2ω − 2Brf

Brf = Brf
D

〈ku,d〉
= BrfTu,d, 7Q �8�ú9

�"�
Tu,d = D/〈ku,d〉

6 ����� �������
	� � �������� 
� ���
� � �����	��*	��	 �� ���%
B0	 ����	� 
��� �

〈ku,d〉 =

√

k2
0 ∓ 2ω + 2Brf +

√

k2
0 ∓ 2ω − 2Brf

2D
≈
√

k2
0 ∓ 2ω 7Q �8� 89

6 ���"
�� �
�����' 
�("� 	� ��	
���� 
����
�
� 
� ���
� �
���	 �������� � I������������
���' ���������� ��	
� 7Q �8tù9 ���"	��� 
 ���	!	
�

w =
B2

rf

B2
rf + (ω −B0)2

sin2(BrfTu,d), 7Q �8�Q9

������ � ���!�� ����
�
�� 7ω = B09 ����# � ����������� � 7Q �8ú�9 �
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� �
�����	 7Q �8� 89 �
���	 ��	
$�������� �� ���*	��'
� 
� ���
�$������	

ω
�� ����
�
	% �

k2
0

� !���� �	"��' � 
�
 ���	!�%��� �
�����	 
� ���
�� � ���
��	�����	��*	��	 � ��� ��������� ���
��'�� 
 ������� � �����������
		 
������	����

�����!
� � ���
���'% �����	����

� 7�� � � � ÷Q9 	 �" ����' 
��
��'
� ���!
�%+	� ����!�$
	 �
H � ���	���'
� � ��	 "������!
� ����� �
���	��

k2
0

� 
���	��� � ���!�� ��'�������"
��
� ���
�� � ��(
� ������' ��������� ����
�
�
��� ��	
$�������� ��
	� ������� � !�����"
� 	� 
����
�
� 
� ��������!	�����' � � ������ ��
��� ���� 
�������
	� � �"
�
� ��	���� 
�����"	�� �!	�����' 	���
�
	� �
���		 
� ���
� ����� ����"� 	� ��	
$�������� �:��	 ��
��� 
�������
	� 
����
�
�� � �
�	��������'
�� ���%
B0

� �� ��� !���' 
� ���$
�� ����	!	���� ���% �
���	% � 	 ��� ����� ��+�� �
���	� 
� ���
�� ����������� :��	(� ��
��� 
�������
	� 
����
�
�� � ��������'
��
B0

� �� �
���	� ��� !���	 
� ���
����
	(����� � 	 ��+ �� �
���	� 
� ���
�� ��(� ��"��������	!
�� ����" �
	� "��� 
����
�
� ���������
� ����	!	�� 	� �
������ √
k2

0 ∓ ω� ��� * ��������
B0

� �"
�
� ��� ����	!	� 
�����"	�� �!	�����' ��
(� 	 � ����	*��
τ̂
u,d
b0	

τ̂
u,d
b0 7Q �8t�9 � 
������ ���"�� �
�(	�����	 � 7Q �8tt9 	 ����"���%� ������
���' ����"�$��
	� 
� ���
�� ���
	*� ����

B0

� , �!���� ��	� �
�(	���� ������
���	
w(u → d)���������� 	� ������
	� |ξu〉 � ������
	� |ξd〉 	 w(d → u)

���������� � �����
�� 
�����$��
		 ���
�
w(u→ d) =

√

k2
0 + 4ω

k0

|〈ξd|τ̂ u|ξu〉|2 =

=

√

k2
0 − 4ω

k0

∣

∣

∣

∣

∣

2
√

k2
0 − 2ω

√

k2
0 − 4ω +

√

k2
0 − 2ω

sin(BrfTu)
2k0

k0 +
√

k2
0 − 2ω

∣

∣

∣

∣

∣

2

, 7Q �8�t9

w(d→ u) =

√

k2
0 − 4ω

k0

|〈ξu|τ̂ d|ξd〉|2 =

=

√

k2
0 + 4ω

k0

∣

∣

∣

∣

∣

2
√

k2
0 + 2ω

√

k2
0 + 4ω +

√

k2
0 + 2ω

sin(BrfTd)
2k0

k0 +
√

k2
0 + 2ω

∣

∣

∣

∣

∣

2

. 7Q �8��9
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 �"	
	*� �

:��	 �� ���	� ����!	�' ����� ��	
$�������� ��!�
 � ������
		 |ξu〉 � �� "��(
� �����$
��'�� ����
����
BrfTd = π/2

�
BrfTu = π

� �� � � ��
�# �
	� �
������ "��� 
����
�
� �
���	
�������� √

k2
0 + 2ω/

√

k2
0 − 2ω = 2

� ��
�"� ���"���� !��
k2

0/2ω = 5/3
� I������ ������
���'������
�
	� 
����
�
�� |ξd〉 � ����������� �� � ������
	� |ξu〉 ���
� w(d→ u) = 0.98

�
) ���!�� � ���	 �� ���	� ����!	�' ����� ��	
$�������� ��!�
 � ������
		 |ξd〉 � "��(
������
��'�� ����
����

BrfTu = 3π/2
�
BrfTd = π

� �� � � ��
�# �
	� �
������ "��� 
����
�
�
�
���	 �������� √

k2
0 + 2ω/

√

k2
0 − 2ω = 3/2

� ��
�"� ���"���� !��
k2

0/2ω = 13/5
� �������������
���' ������
�
	� 
����
�
�� |ξu〉 � ����������� �� � ������
	� |ξd〉 ���
� w(u→

d) = 0.93
�

��
	� ������� � " � ���	���'
� � � ���!�� ��"��

�� 
� ���
�� �� ��(�� 
������	��$��

� ��!�
 ������������' � ���
���'% �����	����

� ��!�	 ��� �����	 	
��
�	�
�$��	 �

π/2
G�/{2{/|

) "��'
� #�� �� � ��
��
�� ��"�� ��������	���' ��"�%+�% ���
�� ���
���'% ����$�	����

�% �"��' ����
B0

� �� � � �� ��	
���� |ξu〉 � 	 ������ ��	 ����
�
�� ����
	!	�������	*� 
τ̂ u = exp(−iϕσx) = cosϕ− i sinϕσx. 7Q �8��9

N
�!	�� ���#�"#�� ���
� ���� "�� � ��	
��
�� ������
	�

|ξ〉 = τ̂ u|ξu〉 = (cosϕ |ξu〉 − i sinϕ |ξd〉) 7Q �8�õ9
� 
����
�
���	 ��
���� ��	
��� �����
	

s = 〈ξ|σ|ξ〉 = (0,− sin 2ϕ, cos 2ϕ). 7Q �8�ö9
���%"� �	"
� � !�� "�� ����

ϕ = π/4
��	
���� �����
� ��"�� �����
"	
����
� ��	

z
��� � � ��	
 ������!	������ 
� ����

π/2
����	� !����� �����
	 ��
��� ��	

x
� 
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��� ���%

Brf
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���' � �����
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�% ��	
z
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�
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Brfß5 ß 1â8 çÝéÝ1âëØéâßÞÙå àâ æ9Ýã
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Brf(tex +2T + tπ)
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(

ix
√

k2
0 − 4ω + 4ω′ − i(E0 − 2ω + 2ω′)t

)

|ξu〉
}]

. 7Q �8õ�9
I����� ��������� � ����� !���	 7Q �8õt9 ��	������ 
� ���
 � ���# �"#	 !���� ����� ������� ������ � �����'
�� ��������� ����!�%� �� 
�������� ���	��"� ���	� �� ��������������� � :��	 ����� ������� �������� ������	�' �
��	����� �����	��*		 � ������
�%$+	 
� ���
� ���'
� � �����	��*	� �"��' ��	

z
� �� 	
��
�	�
���' ���# �"#	� 
� ���
������� �
��	������ ��"�� ���
�

I(x, t) =
1

4

∣

∣

∣
exp(ik0x− iE0t)− exp

(

ix
√

k2
0 − 4ω + 4ω′ − i(E0 − 2ω + 2ω′)t

)

∣

∣

∣

2

≈

≈ sin2([ω − ω′][t− x/v]). 7Q �8õ�9��
	� ������� � � �%�� ��!
�
x

����"	 �
��	������ 	
��
�	�
���' 
� ���

��� ��!
���"�� ��"��	����

� � !������ �	�
	 
ω − ω′

� )��
	
��� 
�����
�
�� ���
���� ���$
� � "�	
� ���
�
λ = 2πv/(ω − ω′)

� ��
	� �	�
	� 	
��
�	�
���	 ������� 
���%"��	�'



lÖÖ í¸²î² � ® ¯ó µ¹º ´±µ¹´ ± ² ¾¾´ðµ¶´ µ´½ °± ¹µ² ¾¹ ¾·¶µ¹º
���
�
	�	 �
����	��
�������	 �õ÷� � ���
���' !����� � 
	� ����������

δω = 2 · 10−5
ª* �u"	�	���'
� � !�� �"����� 
���%"��' ����' ����% ���
���' !������ ��"' �
� ����������������	�"� ����"
� ����
 � ���"� 
�
 !������

ω
	
ω′

��������� ���������	 �
��� tQ 
ª* � � 
� $���
 �������� !���� ��% ����
��
� �� ����� ����"
� ����� �	#' 
��
��'
	� �	��	��
�
" ��"
�
� �����'���� �
����	��
�� ����
��	�
�

� � ����%"��#	��� �	�
	� 	
��
�	�
���	����
���	�����	 
� ��� ���� 
� ���
�� � � ��� ���� ��"	�!�����
�� 
���# �
 	 ����	�'$
���' ��
���*		 ��"	�!������ �� ���
� ���	 ���'
� ���"	�� 	��!�
	� ��� ��� ����
��$
	 � �� �� � !�� �
	 �
����	�' ����' 
�"�(
�� ���"	�� � ��	"����'������ � ����	�'
����
	��
		 	� ��� ��� � N
�!	���'
� ����� ����
�� !������ �	�
	 � ����"
� Qúú��úú 
ª* �
���%"����' � �
����	��
��� � ��	��

�� � ������ �õù� �)��
	

���
	� �	�
	 
� ���
���	 !����� ����#� 	��%���	������ !�������� V!�"����	*� ,� � J��
�W�
- x{4x|{/x ¼���/ �.yN} A43{/T/ � 2|12½
,� �����
�� !��� 
�" ������	 �������	 ��	*� ,� � J��
� 
�!��	 ��������' � O���������+�
	� �����
	

ν ′
����� ��
'# � !������

ν
���+ �
	� �����
	 ������ !���� � 	 ��� $���� !���� ��(� 	���
	�	�' � �����' ���"
	� ������ ��
�����	�' ���'
� ����" ���	 	������(	� � � 
��� ����� ������ ����� ��
�� ���
� � 
	��� ����"��� �
���' 
����'#�������

α
��
��� ����(�
	� �����
	 � �����'
�� ��
�("�
� ���	 �����!	���' � ��
�������!
	 � :��	 �� !������

ν ′
���
����' !������

ν
	 ���� ��������

νT
�����
	 ������ !������ �����

T
���	 �� ������ ����� "� ������ ����"�� � 	
������

2πn−α ≤ νT ≤ 2πn+α
��� ��� �����(	� ���#�	 �� !���� ������ ������ � 	 ����
 �%"� �� �������	 ������� ����
	� (� � 
�
 ����" 
	�	 � I�	 "����� ���� �������� ��" ������	 �������	 
� ����� ����� �	 
	
�� � 	 ����� ������
 ��	*� ������� �� �I�	

ν ′ 6= ν
����
 
	���� ����"	 ����� �����	� 	� ����� � 
������ ����������
�%������
������
� � !������ |ν − ν ′| � ��!
� ��
 (� 	 ����
 
� ���
�� ����� �
��	�����������	��*		 ���"�������� ���� ����	��"
� ��"��	����

�% ���
� ����
���	 � !������ 

|ν − ν ′| �
����	!
� ���������

� � ��"���"�� Q �� �8�
� ü� ü� ��
�{�ÿ���ÿþ�
 þ
��
�y�þ��� ���������ÿþþ��� ����ÿ þ
�
��þ��� ���}����æ���
J� ��	"��	 � 
�
 � ����+'% ��"	�!�����
�� ��	
$��������� ���" ����' ���
� ���*���		��	
� � 	� 
����� �
��	����� &���	���� ���
� ����
���	 � ��� ���
� � �"
�
� � ����" ���	���"���
	� ���'
� �"
� 
����
�
�� ��	
� 	���� ��
'#�% 	
��
�	�
���' � !�� ��"�%$+ �� � I�
�(�� � 
�
 
�������
� �����	����

� ��"�%+	 ��!�
 
� ���
�� ���
���'%������������' � ���'�	��%+	 �öú� ���������	� ��!�
 
� ���
�� � �
���	� 

E0

� �����	����

�� �� ��	
x
� � ���+	 � 
�$������
		 � ��������'
�� ��	

y
� )��
���� &�

*	� ��
	� 
� ���
�� ���
�

|ψ0(r)〉 = exp(ik0r − iE0t)|ξxu〉, 7Q �8õõ9
�"�

k0 =
√

2E0

� � |ξxu〉 6 �������

� ��	
�� ����	*�
σx

v
σx|ξxu〉 = |ξxu〉

�I������	� ��!�
 !���� ����
�
�
� ��	
$&�	���� � �
����

	� ���
	�
�� �����
B1

���������'
�� ��	
z
� 
�
 ��
���
� 
� ����� � ����
� !���	 �	� � Q �ö � I��
��'
�

|ξxu〉 =
1√
2
[|ξzu〉+ |ξzd〉],

�"� |ξzu,d〉 6 �������

�� ��	
��� ����	*�
σz

v
σz|ξzu,d〉 = ±|ξzu,d〉,



� ®� ® $ ]±ò ¾ ·¹¸ð±¶�¹î²µµòº¶ µ´½ °± ¹µ²º¶ lÖ l
�� ����� ��	
$&�	����� 
� ���
� �
�(���� � ��������	*		 ������
	 |ξzu,d〉 � �
���	��	
E0±ω1

�����������

� � 
�
 ��
���
� 
� "	������� � 
	(
� !���	 �	� � Q �ö � �" � ω1 = 2B1

��� ���
���� &�

*	� ���	�������� � ���"�%+�� �	"� v

|ψ1(r)〉 = exp
(

ik̂1r − i(E0 + ω1σz)t
) −i√

2
[|ξzu〉+ |ξzd〉] =

=
−i√

2

(

exp(ik1+y − i(E0 + ω1)t)|ξzu〉+ exp(ik1−y − i(E0 − ω1)t)|ξzd〉
)

, 7Q �8õö9
�"�

k̂1 =
√

k2
0 + 2ω1σz

�
k1± =

√

k2
0 ± 2ω1

	
ω1 = 2B1

�I�����	� �����' 
� ���	 
� ���
�� ����� (� ����� ������� &�	����� 6 ����� � � ���$
	�
�� �����
B2

� ��������'
�� ��	
x
� I��
��'
� ������
	� |ξzu,d〉 ���"������%��� � �	$" � ��������	*		 ������
	 |ξxu,d〉 � ��'% 
��
����
	� �"��' ����

B2

v

|ξzu〉 =
1√
2
[|ξxu〉+ |ξxd〉], |ξzd〉 =

1√
2
[|ξxu〉 − |ξxd〉],

�� ����� ������
�
	� !���� ����� ��	
$&�	���� 
� ���

� ��!�
 ���+ ��	��� 
� !�$���� ��!
� � �
���	��	
E0±ω1±ω2

� 
�
 ��
���
� 
� "	������� � 
	(
� !���	 �	� � Q �ö �)��
���� &�

*	� ����� ������� &�	����� ���
�

|ψ2(r)〉 = −1

2

(

exp
(

ik̂1+r − i(E0 + ω1 + ω2σx)t
)

[|ξxu〉+ |ξxd〉]−

− exp
(

ik̂1−r − i(E0 − ω1 + ω2σx)t
)

[|ξxu〉 − |ξxd〉]
)

, 7Q �8õ÷9
�"�

k̂1± =
√

k2
0 ± 2ω1 + 2ω2σx
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|ψ2(r)〉 = −1

2

([

exp (ik++y − i(E0 + ω1 + ω2)t)− exp (ik−+y − i(E0 − ω1 + ω2)t)
]

|ξxu〉+

+
[

exp (ik+−y − i(E0 + ω1 − ω2)t) + exp (ik−−y − i(E0 − ω1 − ω2)t)
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|ξxd〉
)

, 7Q �8õù9
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√
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0 − 2ω1 + 2ω2
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√

k2
0 + 2ω2

, 7Q �8ö89
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√

k2
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√

k2
0 − 2ω1 − 2ω2
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≈ ω1
√

k2
0 − 2ω2
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K+ − K− ≈ −ω1ω2/k
3
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Lω1ω2/k

3
0 = π/2
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L = πk3
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ψs(r, t) =

∫

d3r′N0(r
′)b(r′) exp(kr′)

exp(ik|r − r′| − iωt)
|r − r′| , 7Q �8öt9
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r
=

i

2π
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√

k2 − p2
‖

exp
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ip‖r‖ +
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‖|r⊥|
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exp(ikr)

r
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p2
‖
<k2

d2p‖
√

k2 − p2
‖

exp
(

ip‖r‖ +
√

k2 − p2
‖|r⊥|

)

=

=
i

π

∫

d3p δ(k2 − p2) exp(ipr)Θ(p⊥r⊥ > 0) = 7Q �8ö�9
=
ik

2π

∫

dΩ exp(ikΩr)Θ(kΩr > 0),

�"� |kΩ| = k
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�# �
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d2p‖

2
√

k2 − p2
‖

Θ(p2
‖ < k2) = d3p δ(k2 − p2).
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ψs(r, t) = i

∫

d3r′N0(r
′)kb(r′) exp(kr′)

∫

dΩ

2π
exp (ikΩ(r − r′)− iωt) . 7Q �8ö�9
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I(r) = lim
τ→∞

1

τ

τ
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∫
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√
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〈χxu||ψs(r, t)〉 ≈ exp(−iE0t)×
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η12 =
exp(ik|r2 − r1|)
|r2 − r1|

. 7t �õ9
I�"���
��
� 7t ��9 � 7t �t9 " ��� ���
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ψ(r) = exp(ikr)−
N
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j=1

ψj
bj

|r − rj|
exp(ik|r − rj|), 7t �ö9

�"�
bj

6 ����	��"� ������
	� *�
���� � �������(�

�� � ��!
�
rj

� �
ψj

6 ���
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�
��"���%��� 	� ����	��"� ��"�%+� ����
� ���
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exp(ikrj)
	 ���
 � 	"�+	� �� ���� �����'
�� *�
���� �

ψj = exp(ikrj)−
∑

j′ 6=j

ψj′bj′ηj′j, 7t �÷9
�"�

ηij
�
����	!
� 7t �õ9 � X �
� � !�� � ��+ �� ���!�� ��#	�' �	����� ����
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��"���
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���
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� � )������ ��	

x
	
y

��
 � !����
���"	
��� ������ ��(
� ���� ���"����	�' � �	"�
rn = an

� �" �
a

6 �����
� �!� 
	 �� ��
���
n = (nx, ny, 0)

	���� *���!	���
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����
�
��
nx, ny 7�	� � t �89 � ø���� �"	
�$
��� � 	 ��� ��
�!���� !�� 	� ����	��"� ������
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��� � �� � �

bj = b
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���' ��"��� ����
�� ���
�

exp(ikr)
� �� �� ��
�# �
	%
 
� ��� ����� ����
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�����
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�
��� � �� ������(�
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exp(ikrj)
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� ���
	� ������� � ��# �
	� �	����� ����
�
	 7t �÷9 ��(
� 	�
��' � �	"�

ψn = C exp(ikrn). 7t �ù9I�"����	� 7t �ù9 � 7t �÷9 � ����!	� ����
�
	� "��
C
v

C = 1− bSC, 7t �8ú9�"�
S =

∑

n 6=0

exp(ikrn)
exp(ikrn)

rn

. 7t �889
:��	 �� ���(�� ��!	��	�'

S
� �� ���(�� 
� �	

C =
1

1 + bS
. 7t �8Q9
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é ÞÝëèß
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S

H�� ��!	���
	� 
�	�����	!��
	� ���� �	"� 7t �889 �����
� �
��' �"
� ����	�� �������$����
	� v
N2
∑

n=N1

f(n) =
∞
∑

m=−∞

N2
∫

N1

f(n) exp(2πimn) dn. 7t �8t9
:�� ���
� ������	�' � H � ���	���'
� � � �����'���� �����������
	� �� ����!	�	 
���%
����� ��

m
�� 
���� &�

*	 

F (m) =
N2
∫

N1

f(n) exp(2πimn)dn
� 
 
����� ��(
� ��	��
	�'

�� (� ����� ����	�� 7t �8t9 � ) �����'���� ����!	�
∞
∑

m=−∞

F (m) =
∞
∑

M=−∞

∞
∫

−∞

F (m) exp(2πiMm) dm =
∞
∑

M=−∞

2π

N2
∫

N1

f(n)δ(2πM + 2πn) dn =

=
∞
∑

M=−∞

N2
∫

N1

δ(M − n)f(n)dn =
∞
∑

M=−∞

f(M)Θ(N1 ≤M ≤ N2) ≡
N2
∑

M=N1

f(M). 7t �8�9
)���(�
	� 7t �8t9 "�� �"
����
� ����� ��(
� ����+	�' 
� �
������
�� � ����	��� �"�����
�� ����� 7t �889 ���"���������� � �	"�

S = k
∑

n 6=0

η(kan) exp(iakn) = k
∑

m

∫

|nx,y |>1

d2n η(kan) exp(iakn+ 2πimn), 7t �8�9
�"�

η(x) = exp(ix)/x
� ��
����

n
	
m

	��%� *���!	���
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����
�
��
n = (nx, ny, 0)	

m = (mx,my, 0)
�����������

� � 	

n = |n| � ,���	����
	� � 7t �8�9 ���	���"	��� �� ����*����
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my
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����	����
	� 6 �� ���������
��� "�����
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n
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d2n
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� � �"
�
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���$
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 ���
 ����
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���� �������
�
)���!�� � ��(
� ����(	�' ��� ��" �!�� �!	���

C

�
	� ���������� � 
����� ����
���	$���� 7��������"����� 9 ����	��"� ������
	� v

b → bc = bC
� 	 ����� ��
��'�� ��!	���
	��������

�� ���� � H�� ����� 
�(
� ��"����	�' ��# �
	� 7t �ù9 � 7t �ö9 	 �������	�����'�� ���
�
�!
��� "�����
��� �
�(����� ��!�
 ¹ 
���"	
����	

an
� � 
������ 
���"���������	�����	 � I�	��
	� ����	�� ����	����
	� 7t �8t9 � ����!	�

ψ(r) = exp(ikr)− bc
∑

m

∞
∫

−∞

d2n exp(2πimn+ iakn)
exp(ik|r − an|)
|r − an| , 7t �8õ9

�"� ��"	��$��
��� 	���� ������
�� 
���"	
���
r = (x, y, z)

� N" ��' 	
����	����
	� ��$" ���� �� ����� �������
����� 	 
	
�
	� ���(
���� 
� ���
	
���� ) 	
������� �"��
� �����������
�� 
���"	
��
n

���� �	 
 ������
��
ρ = an

� � ������ ���������
��� ��
����
m

�����	 ������
� ��
��� �����
� ��# ��
	
κ = 2πm/a

� I�	 ���� ����(�
	� 7t �8õ9������������� 
 �	"�

ψ(r) = exp(ikr)− bc
a2

∑

κ

∞
∫

−∞

d2ρ exp(i(κ+ k)ρ)
exp(ik|r − ρ|))
|r − ρ| . 7t �8ö9

H�� ���� !���� ��	"��' � 
�
 ��� ����(�
	� ���"���������� � �	"� ����
��
���	����(�

�� 	 ���#�"#	� "	&���	����

�� ���
 � ������'������ "�����
�� ;��'�$���"������
	�� �&��	!��
	� ���
 78�Q�9 v

η(r) =
i

2π

∫

d2p‖
k⊥

exp(ip‖r + ik⊥|z|), 7t �8÷9
�"�

k⊥ =
√

k2 − p2
‖

�
I�"����	� 7t �8÷9 � 7t �8ö9 � ����!	� ���' 
���� ����(�

�� 	 ���# �"#	� "	&���	��$��

�� ����
	� ���
 v

ψ(r) = exp(ikr)− 2πibc
a2

∑

κ

∞
∫

−∞

exp(ip‖r‖ + ik⊥|z|)
d2p‖

k⊥
δ(p‖ − k‖ − κ) =

= exp(ikr)− 2πiN2bc
∑

κ

1

k⊥(κ)
exp(ikκ‖r‖ + ik⊥(κ)|z|), 7t �8ù9

�"�
N2 = 1/a2

6 "�����
�� ����
���' ������ 
� 
�	�����	!��
� ����
���	 �
k⊥(κ) =

√

k2 − k2
κ‖

�
kκ‖ = k‖ + κ

� I�	 ���	*����'
��
z

���������
k⊥(κ)|z| ���
� −k⊥(κ)z
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������' ����(�

��	 � I�	

z > 0
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k⊥(κ)|z| = k⊥(κ)z
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���	 ��� �� ��"�� 
������' ���# �"#	�	 �)�
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κ = 0
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�� � � ��
����

κ 6= 0
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ψ(r) = exp(ikr)− i
∑

n

βn exp(ikn‖r‖ + ikn⊥|z|), 7t �Qú9
�"�

βn = p/kn⊥, p = 2πN2bc, kn‖ = k‖ + κn, kn⊥ =
√

k2 − k2
n‖. 7t �Q 89
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ψ(r) = eikr − i
∑

n

βn exp(ikn‖r‖ + ikn⊥|z|) ≡ Θ(z < 0) [ψ0(r) + ψr(r)] + Θ(z > 0)ψt(r),

7t �QQ9
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� "�� !���	 v ����� �� ����
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kj‖ = k‖ + κj
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κj
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|ψ(r)〉 = Θ(z < 0)
[

exp(ik̂r) + exp(ik̂rr)ρ̂s

]

|Ψ0〉+ Θ(z > 0) exp(ik̂r)τ̂ s|Ψ0〉, 7t �Qt9
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exp(ik̂r)|j〉 = exp

(
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)

|j〉, exp(ik̂rr)|j〉 = exp
(

ikj‖r‖ − ikj⊥z
)

|j〉.
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� 	����'�����' ��
$(� "�� ���	�	 ����	* � I���' "�
� ����	*�

M̂
� ����	!
��	 �����
���	

Mij

� 
������
������"�� ��
��� |j〉 � ��
��� |i〉 � J ���	*�

M̂
�"��
� ���	�����' � �	"�

M̂ =
∑

i,j

|i〉Mij〈j|,

	 ���" � � �	�� ����
���	����

���	 ���	�� |i〉 �� ����	!
�� �����
�� ���
�
〈l|M̂ |n〉 = Mln.J���	!
�� �����
�� ����	*

ρ̂s
	
τ̂ s

���
� �����������

�
〈j|ρ̂s|i〉 = −iβj, 〈j|τ̂ s|i〉 = δji − iβj, 7t �Q�9

�"�
δji

6 �	���� S��
�
��� � ���
� �"	
	*� ��	
i = j

	 
��% ��	
i 6= j

� �
βj = 2πN2b/kj⊥

�N����	� � !�� ����	!
� �����
�
ρ̂s


� ���	�	� �� 
�!��'
��� 	
"�
�� � � ����	*�
τ̂ s��(
� ���"����	�' 
�


Î + ρ̂s
� �" �

Î
6 �"	
	!
�� ����	*� ���������	� �������
�
�!
� �"
�����
� 
�	����� � 
��	!��
� �!� 
� � �"
� 	���� 
����� �����
"	
����
� ���"
� ������
���	 � ��
� 
�	����� ���"�������� ���� ����
��
���' 
�	�����	!��
	� ����
���� � ���" ���

�� ������ �����(��
�� #	�	
�

a
�)������ � 
�� ���	�" ��
 (� � 
�
 � ���!�� ����
*	��� S��

	���I�

	 7�� � �	� � 8�8õ � · 9 ����� ���	�" �����	� 	� 
�	�����	!��
� ����
���	 	 "��� ������ �����(��
�� #	�	$
�

a/2
�� ��� �����
� �� 
��� �J ���	*� ����	��" ����(�
	�

ρ̂
	 ������
�
	�

τ̂
"�� �"
��� ���	�"� �����
� � ���$�	*��	

ρ̂s, τ̂ s
"�� �"
� $�"	
����

� 
�	�����	!��
� ����
���	 �!��	"
��	 ����
�$# �
	��	

ρ̂ = Êρ̂sÊ, τ̂ = Êτ̂ sÊ = Ê
2
+ ρ̂,�"� ���" �
� "	���
��'
�� ����	*�

Ê
� ����	!
��	 �����
���	

Eji = 〈j|Ê|i〉 = δjiej
�

ej = exp(ikj⊥a/2)
� 
������ ��	����%� ����������
�
	� ���
 �� ������� �����(��
� #	$�	
�

a/2
�N����	� � !�� "	&��
*	� 
� �����"�%+	� ���	�"�� 
�	������ 
� ����("��� ���
 � 
�$����� 
� ���"�� � �
�(����� ���
 � ����("�

�� ������ ���	�"�� � ���

� ������� "	$&��
*	� 
� 
�	������ ��(�� ��������	���'�� 
�
 "	&��
*	� !���	*� � �
������
����	
�� 
� �"
����
�� ����
*	��� � �� � � �
����	!
� "	&��
*		 ��	
��� !���	*� 
� �"$
����
� ���	�"	!��
� ���
	�
� �	����� �, ����+'%

ρ̂, τ̂
��(
� 
� �	 ����	*� ����(�
	�

R̂
�� �������
�
�!
��� 
�	��������
 (� � 
�
 ��� "������� � ���!�� �"
����
��� ����
*	��� �����
�!	� ������
	� ��"�%+� ���
� � ������� ���	�"� !���� |Ψ0〉

� ���" � ������
	��
����(�

� ��"��

R̂|Ψ0〉
� ����
�!	� ������
	� ���
� � ��"�%+� 
� ����� ���	�" � !����

X̂|Ψ0〉
� �" �

X̂ = exp(iq̂a)
6 ����	*� �������
	� &�� � 
������ ����(����� !���� ����	*��������
��� ���
����� ��
����

q̂
�
���	 
�	������ �J ���	*� ����	��" ����(�
	�
R̂

�� ����� �������
�
�!
��� 
�	������ 	 ����	*� ���$����
	� &��
X̂

����"���%��� 	� �	����� ����
�
	 
X̂ = τ̂ + ρ̂R̂X̂, R̂ = ρ̂+ τ̂ R̂X̂. 7t �Q�9

I����� ����
�
	� 7t �Q�9 ��(
� �����#	�' ��
��	���'
�
X̂

v
X̂ = (Î − ρ̂R̂)−1τ̂ . 7t �Qõ9
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I�"����	� 7t �Qõ9 � 7t �Q�9 � ����!	� ����
�
	� "��

R̂
v

R̂ = ρ̂+ τ̂ R̂(Î − ρ̂R̂)−1τ̂ . 7t �Qö9
J� ����!	�	 ����
�
	� � 
������ ��	��"	��� 
 
��"���
��� ����
�
	% �	"�

Z2 + BZ +
ZC +D = 0

"�� ����	*�
Z

��	 ��"�

�� ����	*��
B
�
C

	
D

� 
������ � ����+ � ������ �
� 
�����	��%� "��� � "����� � ��#	�' ��
�� ����
�
	� � ��+ �� �	"� 
� �"����� � � �#���!� � �"
�
� � ����"��� �����

�����	 � 
������ ������%� 
���"	�' 
�(
�� ��# �
	� �
�"
� 	� �����

���� �������� �	" ����	*�

ρ̂
� :� ����	!
�� �����
�� ���"������$%��� � �	"�

ρji = 〈j|ρ̂|i〉 = ajbi, aj = −iejβj, bi = ei. 7t �Q÷9
J���	*�

M̂
� ����	!
��	 �����
���	

Mij = piqj
� ���
��	 ������� ���	���" �
	%
���"	
��

pi, qj
"��� ��
����� |p〉 	 |q〉 � 
�����%��� "	�"
��	 � 	 �� !�� �� ��������	�	� ��� ���� �

� ü� üû �
	þ��� 	ÿ

	ÿ
��� ü �����
�ÿ ��ÿ�þy� 	ÿ
���
I���'

Â
6 "	�"
�� ����	*� � �� � �

Â = |K〉〈N | � 
�
������	 ��
�����	 |K〉 	 |N〉 �	��%+	�	 
���"	
���
Kj, Nj

� ���" � ������"�	�� ���"�%+	� ����
�# �
	� �
8� H�� ���	����'
� ����	*�

B̂
���	���" �
	�

ÂB̂
6 ��(� "	�"
�� ����	*� v

ÂB̂ = |K〉〈Br|, B̂Â = |Bl〉〈N |, Brn =
∑

m

NmBmn, Bln =
∑

m

BnmKm. 7t �Qù9

Q � H�� ���	����'
� ����	*�
B̂

�����
����� ����
����

ÂB̂Â = cABÂ, cAB = Sp ÂB̂ = 〈N |B̂|K〉 =
∑

m,n

NmBmnKn. 7t �tú9
t � H � ���	� ����	*�

A

� ���	����'
� ��
��� |q〉 =

∑

nQn|n〉
� �" �

Qn

6 
����
�
����
���� � ����("��� ��
���

Â|q〉 = cNq|K〉 = cNq
∑

n

Kn|n〉, cNq = 〈N ||q〉 =
∞
∑

n=−∞

NnQn. 7t �t 89
��
	� ������� � "	�"
�� ����	*�

Â
������*	�
��'
� ����
*	�

��� ���������� ���
��'$
� �%�� ��
��� �
� ����
�	���� 
� 
�������
	� � �
��������� ��
����� |K〉 �� � S��"��� ����	*�

Â
����


Â
2

= |K〉〈N ||K〉〈N | = cAÂ, cA = Sp Â = 〈N ||K〉 =
∞
∑

m=−∞

KmNm. 7t �tQ9

� � :��	 Î 6 �"	
	!
�� ����	*� � ��
(Î − Â)−1 = Î + CAÂ, 7t �tt9

�"�
CA = 1/(1− cA)

�
cA = 〈N ||K〉 � H � ���	���'
� �

(Î − Â)−1(Î − Â) = (Î + CAÂ)(Î − Â) = Î − (1− CA + cACA)Â = Î ⇒ CA(1− cA) = 1.
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� ü� ü� ��{�
�
þþy
 �
�
��y � ��{�
�
þþy
 �þÿ�
þ�� ��
�ÿ
��ÿ

X̂

H�� ���� !���� ��
��' � 
�
	� ���
� ����������
�%��� �
���	 
�	������ � 
�� 
�(
�
� �	 �������

�� �
�!�
	� 	 �������

�� ��
���� ����	*�
X̂

� H �����	� � �� 
� "��	 �� 	 "����� � S �
� �� ��"�� ����"��' 	
&����*	� � ���
�� �
���	 ���"� 	 � ���
�� �����"�+	� 	� 
�	������¾,������

��	 �
�!�
	��	 ���������
X̂

����%��� 
�����
�
�� !	���
exp(iqa)

� ���$�	!
��	
q
� ,������

� ��
��� � �����������%+	 !	���

q
� ����
�!	� |q〉 � :�� ��(
�
���	�����' 	 �����(	�' �� ���	�� |j〉 v

|q〉 =
∑

j

Qj(q)|j〉, 7t �t�9
�"�

Qj(q)
6 
���"	
��� ��
���� |q〉 � ���	�� |j〉 �����	����

�� �������

�� ��
���� |q〉 ����� 	 ���	 ���(	�' ���	��� � :��	 
� 
�	$

����� ��"��� ���
� � ������
		
exp(ik̂r)|Ψ0〉

	 ����(�

� ���
� ��(
� ���
����!' � ��� ��!
�
z = 0


�!��� ������� ���	�"� �� ��(
� �����(	�' �� ���	�� |q〉 v
exp(ik̂r‖)|Ψ0〉 = exp(ik̂‖r‖)

∑

q

ψq|q〉, 7t �t�9
�"�

ψq
6 
���"	
��� ��
���� |Ψ0〉

� ���	�� |q〉 � I�	 ���� ���
���� ���� |ψins(r)〉
�
���	
�	������ �
��������� ���
��

|ψins(z)〉 = exp(ik̂‖r‖)
∑

q

ψq exp(iqz)|q〉 = exp(ik̂‖r‖)
∑

q

ψq exp(iqz)
∑

j

Qj(q)|j〉 =

=
∑

j

exp(ikj‖r‖)

(

∑

q

Qj(q)ψq exp(iqz)

)

|j〉. 7t �tõ9
:��	 
�	����� 	���� ���+	
�

D
	 ����(�
	��	 ��(
� ���
����!' � �� � 
�
 �� ��	"	�
	(� � ���� 
� ���
�� � ��# �"#	� 	� 
�	������ � ��"�� ��
	� v

exp(ik̂r)|Ψt〉 =
∑

j

exp
(

ikj‖r‖ + ikj⊥(z −D)
)

(

∑

q

Qj(q)ψq exp(iqD)

)

|j〉 =

=
∑

j

ψtj exp
(

ikj‖r‖ + ikzj(z −D)
)

|j〉, 7t �tö9
�"� 
���"	
���

ψtj
����"���%� 	
��
�	�
���'

kj⊥|ψtj|2

� ���
�� � ��# �"#	� 	� 
�	����$

�� � ���
���� ��
�����
kj = (k‖ + κj‖, kj⊥)

�
kj⊥ =

√

k2 − (k‖ + κj‖)2)
� ,�����
� 7t �tö9 �����	��"�

ψtj
���
�

ψtj =
∑

q

Qj(q)ψq exp(iqD). 7t �t÷9
S �
 ��� "�� 	� ��!	���
	� 
�� 
�(
� 	 �������

�� !	���

q
� 	 �������

�� ��
��������	*�

X̂
� �� � � 
���"	
���

Qj(q)
��
���� |q〉 � ���	�� |j〉 �H �� ����!�
	� ����
�
	� 
� �������

�� ��
���� 	 �������

�� �
�!�
	� ������'��$���� ����(�
	�� 7t �Qõ9 	 ���
����(��

R̂ 7�� �
��	� ���!��� ��� ��(
� �"����' � "���	�(� ��"�� ���������
� ��"��'
�9 � ) �����'���� ����!	�
X̂ ≈ τ̂ = Ê

2
+ ρ̂, 7t �tù9�"�

ρ̂ = |a〉〈b| ≡ −iÊb̂|n〉〈n|Ê, 7t ��ú9
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|n〉 =
∑

j |j〉
6 ��
��� � ��� 
���"	
��� 
������� ���
� �"	
	*� �

Ê
	
b̂
6 "	���
��'
������	*� v

Ê =
∑

j

|j〉ej〈j|, b̂ =
∑

j

|j〉βj〈j|, 7t �� 89
	 "	���
��'
�� �����
�� ��	� ����	* ���
�

ej = exp(ikj⊥a/2), βj =
p

kj⊥
, kj⊥ =

√

k2 − (k‖ + κj)2. 7t ��Q9
u���
�
	� "�� �������

�� ��
����� |q〉 =

∑

nQn(q)|n〉
	 �������

�� �
�!�
	 

λ
�����$

����
X̂

	���� �	"
X̂|q〉 ≡ Ê2|q〉+ ρ̂|q〉 = λ|q〉. 7t ��t9I��
��'
�

ρ̂
6 "	�"
�� ����	*� 7t ��ú9 � �� � ������
� 7t �t 89 � �
� ����*	���� �%�� ��
���

|ζ〉 
� ��
��� |a〉 =
∑

n an(q)|n〉
� 	 ����
�
	� 7t ��t9 ������������� 
 �	"�

Ê
2|q〉+ Cq|a〉 = λ|q〉, 7t ���9

�"�
Cq = 〈b||q〉. 7t ���9�� 7t ���9 ���"���� !��

|q〉 = Cq

(

λÎ − Ê2
)−1

|a〉 ≡ −iCq
(

λÎ − Ê2
)−1

Êb̂|n〉. 7t ��õ9
I�"���
��
� 7t ��õ9 � 7t ���9 " ��� ����
�
	� "��

λ
v

〈b|
(

λÎ − Ê2
)−1

|a〉 ≡ −i〈n|Ê2
(

λÎ − Ê2
)−1

b̂|n〉 = 1. 7t ��ö9
) 
���"	
���� ��
����� |a〉 	 |b〉 	�	 |n〉 ����
�
	� 7t ��ö9 ���	�������� � �	"�

∑

n

anbn
λ− e2n

≡
∑

n

−iβne2n
λ− e2n

≡ −i
∑

n

p

kn⊥

e2n
λ− e2n

≡ −2πiN2b
∑

n

e2n
kn⊥(λ− e2n)

= 1. 7t ��÷9
N�"�!� �����' �����	� � ��� � !���� 
� �	 ��� ��# �
	�

λ
� 	 ����� ����� � ����+'% 7t ��õ9��	 ���	����'
�� ���������

Cq 7��� ��(
� �!	���' 
���	����!
� ������

� 9 6 ����������

�� ��
���� |q〉 �
A.��2C z 1/T�2 40x

e2n = exp(ikn⊥a)
|2�.y�5}

I��
��'
� ���	!	
�
βn ≡ 2πN2b/kn⊥

���� � �� ����� !���' ����
�
	� 7t ��÷9 ��(�� ���'���
� �"	
	*� ���'
� ��	 ��
	�
λ
� 
������ ��	�
	 
 �"
� 	� �
���
�
� v

λ = λn ≈ e2n
�) ��+ �� ���!�� � 
��"� ���

e2n
����	!
� � 
�("�� 	� ���	!	


λn
��	�
� 
 �"
��� 	�

e2n
�	 ����
�
	� 7t ��÷9 ���"	��� 
 �	"�

−iβn
e2n

λn − e2n
≈ 1, 7t ��ù9

��
�"� ���"���� !��
λn = e2n(1− iβn) = exp(ikn⊥a)(1− iu0a/2kn⊥) ≈ exp(ia(kn⊥ − u0/2kn⊥)), 7t ��ú9

	�	 � ���	 ����
�!	�' ��# �
	� ��	 ���� ����	!
��
e2n

!����
λn1 = exp(iqn1a)

� ��
qn1 ≈

√

k2
n⊥ − u0

� !�� �
�	����
�
� ���
����� ��
���� �
���	 ����#
� ���"� � ���	!��
	�
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u0 = 4πN0b
� ,������

� ���
��� ��
��� "�� �������

���

λn1

� ������$
� 7t ��õ9 � 	���� �"	
����

�% 
����
�
�� |qn〉 = |n〉 � I������� ���	 ��"�%+�� ���
�����
���	������ ������
	�� |Ψ0〉 = |0〉 � �� 
�
 � ���	�� |q〉 � ��
 	 � ���	�� |n〉 � 
��� ��"���"
	 	 �� (� 
���"	
��� v
ψn = δn,0

� ��
	� ������� � �
���	 ��+ ����� ��"�� ����������$

��'�� ���'
� �"
� ���
� � ���
���� ��
�����

q0 =
√

k2
0⊥ − u0

�) ��	
*	�� ��(
� 
� �	 	 ������
	 
 ���
����� !	���
q
� ���	 �����
�	�	��$���' 7t ��÷9 ����
�
	��

−iβn
e2n

λ− e2n
= 1 + i

∑

m6=n

βm
λ2
n1 − e2m

, 7t �� 89
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2
R̂Ê
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���
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��� ��������"�� ����!�
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��� ���
����� !	���
q
� �� &	�	!��
	�������(�
	 ��
� � !�� ��	 ���
�� ����(�
		 ���
� "��(
� �
���
�
*	��'
� �������'� 
�������
		 �
���' 
�	������ � ��� �����(
� ���'
� ���	 �
	��� !���'
q
����(	���'$
� �I���' �����'

n = 2
� u����	�

e40 ≈ 1
� ���� ���!�� ��
�!���� !�� 	

e20 ≈ 1
� )��" �� ����$����
�� ���
���� !	���

kB2 = 2π/a
� u����	�

e20 ≈ 1
��
�!���� !��

1− e40 ≈ −2i(k⊥ − kB2)a
�
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R ≡ RB2 =

√

k2
⊥ − k2

B2 −
√

k2
⊥ − k2

B2 − 2u0
√

k2
⊥ − k2

B2 +
√

k2
⊥ − k2

B2 − 2u0

, 7t �öt9
�"� �� ������'�����	�' ��	��	(�

�� ����
�����

2k⊥(k⊥ − kB2) ≈ k2
⊥ − k2

B2

� �� ����$!�

��� ����(�
	� ���"���� !�� ��	
k2
⊥ < k2

B2

����	��"� ����(�
	� ��+ �����

� 	 ���	$*����'
� 	 � 	
�������
k2
B2 < k2

⊥ < k2
B2 + 2u0

���"�������� ���� �"	
	!
�� 
�����
�
��!	���
RB2 =

√

k2
⊥ − k2

B2 − i
√

k2
B2 + 2u0 − k2

⊥
√

k2
⊥ − k2

B2 + i
√

k2
B2 + 2u0 − k2

⊥

, 7t �ö�9
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� ��������
���	 ����	� !����� �����
	 �� ��	

k2
⊥ > k2

B2 + 2u0

����	��"�
R

��+ �����

� 	 ����(	���'
� �,��!�	
n = 1

	
n = 2

����+ �%��� 
� ���	����'
�� *����
n
� ��������
�� ����(�
	���"�� ���
�� �� ���� 	
��������

k2
B < k2

⊥ < k2
B + 2u0

� �"�
kB = nπ/a

� 	 ����	��"�����(�
	� ���"���������� �"	
	!
�� 
�����
�
�� !	����

RB = (−1)n
√

k2
⊥ − k2

B − i
√

k2
B + 2u0 − k2

⊥
√

k2
⊥ − k2

B + i
√

k2
B + 2u0 − k2

⊥

. 7t �ö�9
J�("� ����"
	�	 ��������
	�	 ���
����	 !	����	

n2(π/a)2 + 2u0 < k2
⊥ < (n+ 1)2(π/a)2����	��"� ����(�
	�

R
��+ �����

� 	 ����(	���'
� ��	 !��
��

n
	 ���	*����'
� ��	
�!��
��

n
� � � ������	 ���
��� ����(�
	� ���"���������� �"	
	!
�� 
�����
�
�� !	�$��� � ��	����%+	� �����
��(
���' ����	� !����� �����
	 � ����
� ��������
���	 "��
�!��
��
n

	 � 
	(
� 6 "�� !��
�� �
)���!�� � ���	 �����
	�' � !�� �� ������	 ���	�" 
�	������ ������+	� 	� 
�	�����	$!��
� ����
���	 	 "��� ������ �����(��
�� #	�	
� 

a/2
� �� 
�# 
�	����� ��"��(	�����" ���� ����� �����(���
 #	�	
�

a/2
� I������� ���	 �� �"��	� ���� �����(���
 �	 ��"�� V
�!	
��'W 
�	����� ����� � 
�	�����	!��
� ����
���	 � �� ����!	� ����	*�

����(�
	�
R̂

′
= Ê

−2
R̂
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R′
B = (−1)n exp(−ik⊥a)

√

k2
⊥ − k2

B − i
√

k2
B + 2u0 − k2

⊥
√

k2
⊥ − k2

B + i
√

k2
B + 2u0 − k2

⊥

. 7t �öõ9
J
�(	���'

exp(−ik⊥a)
� �����(��
�

n2(π/a)2 < k2
⊥ < (n + 1)2(π/a)2

������!	���� &�������	��"�
R′
B


� ����
π

����	� !����� �����
	 � 	 ������ ����	��"�
R′
B

����" 
�!������������
��� ����(�
	� ����" � �
��������� ���
� −1
� 
� ����	
� H ���	
� ��	�����������
��(
���' ����	� !����� �����
	 � ��!�	 "���	��� �
�!�
	�

+1
� ����� !��� � ����"���"�%+	� ��������
	� ����(�
	�� � �
��' ������+����� 
 �
�!�
	% −1

�
>./E/401yC 4x1{/| H|y �x|12.�5/~ �|MTT/401/~ /{|2O x5yy
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	� ����(�
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R̂
� ���������

X̂ 7t �Qõ9 ���
�������' 
��'$�� � )�����'������ ��� �����	 7t �Qù9� 7t �tt9 "�� �����������
	� �����
� ����	*�
(Î − ρ̂R̂)−1

	 ��	��"��
X̂


 �	"�

X̂ = (Î + CRρ̂R̂)(Ê
2
+ ρ̂), 7t �öö9

�"�
CR = 1/(1− cR), cR = Sp ρ̂R̂ = −i〈n|ÊR̂Êb̂|n〉 = −i〈n|Ê2

b̂R̂
s
b̂Ê

2|n〉. 7t �ö÷9
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X̂ = Ê
2
+ ρ̂+ CRcRρ̂+ CRρ̂R̂Ê

2
= Ê

2
+ CRρ̂

(

Î + R̂Ê
2
)

. 7t �öù9
u���
�
	� "�� �������

�� ��
����� |q〉 =

∑

nQn(q)|n〉
	 �������

�� �
�!�
	 

λ
�����$

����
X̂

�����' 	��%� ���"�%+	 �	" v
X̂|q〉 ≡ Ê2|q〉+ CRρ̂

(

Î + R̂Ê
2
)

|q〉 = λ|q〉. 7t �÷ú9
I��
��'
�

ρ̂
6 "	�"
�� ����	*� 7t �Q÷9 � �� � ������
� 7t �t 89 � �
� ����*	���� �%�� ��
���

|ζ〉 
� ��
��� |a〉 = −iÊb̂|n〉 = −i∑n enβn|n〉
� 	 ����
�
	� 7t �÷ú9 ��	��"	��� 
 �	"����("�����

��� 7t ��t9 v

Ê
2|q〉+ Cq|a〉 = λ|q〉, 7t �÷ 89�"�

Cq = CR〈b|
(

Î + R̂Ê
2
)

|q〉 = CR〈n|Ê
(

Î + R̂Ê
2
)

|q〉. 7t �÷Q9
�� 7t �÷ 89 ���"���� !��

|q〉 = Cq

(

λÎ − Ê2
)−1

|a〉 = −iCq
(

λÎ − Ê2
)−1

Êb̂|n〉. 7t �÷t9
I�"���
��
� 7t �÷t9 � 7t �÷Q9 ��	��"	� 
 ����
�
	% "��

λ

CR〈b|
(

Î + R̂Ê
2
)(

λÎ − Ê2
)−1

|a〉 ≡ −i
〈n|Ê

(

Î + R̂Ê
2
)(

λÎ − Ê2
)−1

Êb̂|n〉
1 + i〈n|ÊR̂Êb̂|n〉

= 1, 7t �÷�9

������ 
��
��'
� ���	!����� �� 7t ��ö9 � I�	 ���
��'
�� ��������
�� ����(�
		 ��� ����$
�
	� ��	��"	��� 
 �	"�

r(1 +Re20)

(1− rR)(λ− e20)
= 1, 7t �÷�9

�"�
r = −ie20β0

� ���%"� ���"���� !��

λ ≡ exp(iqa) =
e20 + r

1− rR ≈ e20
(

1− iβ0(1 +Re20)
)

. 7t �÷õ9
) ������	 ���
��� ����(�
	� ���	�	 �
�!�
	�

k⊥ ≈ kB1

�
�(	���'
e20

� �
��
�� 7��	 R9��(
� ����
	�' 
� −1
� I�"����	� "��

R
����(�
	� 7t �öQ9 � ����!	�

exp(iqa) ≈ e20

(

1− ik
2
⊥ − k2

B1

2k⊥
a−

√

(k2
⊥ − k2

B1)(k
2
B1 + 2u0 − k2

⊥)

2k⊥
a

)

. 7t �÷ö9
I��
��'
�

k2
⊥ − k2

B1 ≈ (k⊥ − kB1)2k⊥
� 	����

q = kB1 + i

√

(k2
⊥ − k2

B1)(k
2
B1 + 2u0 − k2

⊥)

2k⊥
7t �÷÷9
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	� ���	�	
k⊥ ≈ kB2

�
�(	���'
e20

� �
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�� ��	
R

� 7t �÷õ9��(
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	�' 
�
+1

� I�"����	� "��
R

����(�
	� 7t �öt9 � ����!	�

exp(iqa) ≈ e20

(

1− ik
2
⊥ − k2

B2

2k⊥
a−

√

(k2
⊥ − k2

B2)(k
2
B2 + 2u0 − k2

⊥)

2k⊥
a

)

. 7t �÷ù9
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k2
⊥ − k2

B2 ≈ (k⊥ − kB2)2k⊥
� 	����

q = kB2 + i

√

(k2
⊥ − k2

B2)(k
2
B2 + 2u0 − k2

⊥)

2k⊥
7t �ùú9
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��� ����!��� �������
	 ���
��� ��
��� � ����(	���'
� �
	�� !���'% ������' �� ������ �"����' ����+ �
	� 
� ���	����'
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	� ���
���� !	���
kB

�) ������	 ���
��� ����(�
	� ���	�	 �%���� ��������
��� !	���
kB = πn/a

� *����
n���
���� !	��� ����� ���
�

q ≈ kB + i

√

(k2
⊥ − k2

B)(k2
B + 2u0 − k2

⊥)

2kB
≈
√

k2
B +

√

(k2
⊥ − k2

B)(k2
⊥ − k2

B − 2u0), 7t �ù 89
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k2
⊥ > k2

B

� 	
q ≈

√

k2
B −

√

(k2
B − k2

⊥)(k2
B + 2u0 − k2

⊥), 7t �ùQ9

��" �

k2
⊥ < k2

B

� )"��	 �� ��������
��� ����(�
	� � 
��" � |k2
⊥ − k2

B| � u0

� ����!���
q =

√

k2
⊥ − u0
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� ����������� �� ���!��� � ���������
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�
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þ�

��������	� �����' ���!� � 
��" � ��	�
� 
 �"	
	*� ���	���" �
	�

e2l e
2
0

��	 
�
������
l 6= 0

����" � � ����
�!	�
xlx0 = y

�
aibj = rij

� ����!	� 	� 7t �õõ9 ������ 7t �õö9 ����
�
	�
y
(

1− 2yr0lrl0/(1− e20e2l )
)

=
(

1− e20yrll/(1− e20e2l )
) (

1− e2l yr00/(1− e20e2l )
)

. 7t �ùt9
�
� ��	��"	��� 
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y2 r0lrl0
(1− e20e2l )2

[

1 + (1− e20e2l )
]

− y
(

1 +
e20rll + e2l r00

1− e20e2l

)

+ 1 = 0. 7t �ù�9
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1− e20e2l
� �
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y2
��(
� ���
����!' � I�	 ���� ����$
�
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y2 r0lrl0
(1− e20e2l )2

− y
(

1 +
e20rll + e2l r00

1− e20e2l

)

+ 1 = 0, 7t �ù�9
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y =
1− e20e2l√
r0lrl0

√

(1 +
√
r0lrl0)2 − t00tll −

√

(1−√r0lrl0)2 − t00tll
√

(1 +
√
r0lrl0)2 − t00tll +

√

(1−√r0lrl0)2 − t00tll
, 7t �ùõ9
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tjj = e2j + rjj

� ���%"� ���"���� !�� ����	��"� ��������
��� ����(�
	� ���
� �
κ = 0� ���
� �

κ = κl
���
�

Rl0 =

√

k0⊥

kl⊥

√

(1 +
√
r0lrl0)2 − t00tll −

√

(1−√r0lrl0)2 − t00tll
√

(1 +
√
r0lrl0)2 − t00tll +

√

(1−√r0lrl0)2 − t00tll
, 7t �ùö9
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Wl0 =
kl⊥
k0⊥
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∣

∣

∣

∣

∣

√

(1 +
√
r0lrl0)2 − t00tll −

√

(1−√r0lrl0)2 − t00tll
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(1 +
√
r0lrl0)2 − t00tll +

√

(1−√r0lrl0)2 − t00tll

∣

∣

∣

∣

∣

2

, 7t �ù÷9
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(1±√r0lrl0)2− t00tll = 1−e20e2l ∓2ie0el

√
β0βl+ ie20e

2
l (β0 +βl)

� ����(�
	� 7t �ùö9���	�	
e20e

2
l ≈ 1

��(
� ���"����	�' � �	"�

Rl0 ≈ (−1)l
√

k0⊥

kl⊥
×

×

√

k0⊥ + kl⊥ − 2kB −
u0

2

(

1√
k0⊥

− 1√
kl⊥

)2

− i
√

2kB − k0⊥ − kl⊥ +
u0

2

(

1√
k0⊥

+
1√
kl⊥

)2

√

k0⊥ + kl⊥ − 2kB −
u0

2

(

1√
k0⊥

− 1√
kl⊥
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+ i

√

2kB − k0⊥ − kl⊥ +
u0

2

(

1√
k0⊥

+
1√
kl⊥

)2
.
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� ����
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X̂N = T̂N + R̂NR̂X̂N , R̂ = R̂N + T̂NR̂X̂N . 7t �8úú9
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T̂N
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��
�
R̂N = R̂− T̂NR̂X̂N

� ������ ����
�
	� " ���
T̂N = (Î − R̂2

)X̂N [Î − R̂X̂NR̂X̂N ]−1, 7t �8ú 89
� ��"���
��
�

T̂N = X̂N − R̂NR̂X̂N

�� ������ ����
�
	� ��	��"	� 

R̂N = [R̂− X̂NR̂X̂N ][Î − R̂X̂NR̂X̂N ]−1. 7t �8úQ9
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(RN)00
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(RN)00 = R00
1− exp(2iqD)

1−R2
00 exp(2iqD)

=

=
u sh(q′′D)

(k2
⊥ − k2

B − u) sh(q′′D) + i
√

(k2
⊥ − k2

B)(k2
B − k2

⊥ + 2u) ch(q′′D)
, 7t �8út9
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� 7t �ùú9 � q′′ =

√

(k2
⊥ − k2

B)(k2
B − k2

⊥ + 2u)/2k⊥
	
D = Na

� :��	 ����
�!	�'
y = (k2

B − k2
⊥ + u)/u, A = uD/2k⊥, 7t �8ú�9

�� ������
���' ����(�
	�
W = |(RN)00|2

� ������	 ���
��� ����(�
	�
y2 < 1

� ���	����$���� � �	"�

W (y) =
sh2(A

√

1− y2)

1− y2 + sh2(A
√

1− y2)
=

1

y2 + (1− y2) cth2(A
√

1− y2)
. 7t �8ú�9
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k⊥ = k cosϑ
	 � 
�!�������������
��� ���� ����(�
	� ��	��� ����

ϑB
� ��	 
������

k2
⊥ = k2 cos2 ϑB = k2

B + u
� �� � �

k2
⊥


���"	��� � ����"	
� ����	
� H ���	
� � I�����
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y
��(
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y =
k2
B + u− k2 cos2(ϑB + δϑ)

u
≈ k2 sin 2ϑB

δϑ

u
. 7t �8úõ9
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δϑ = 0

	
y = 0
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�� ����(�
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� ������� ������� #	�	
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� �
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k2
��"�%+	� 
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∆ϑ =
2u

k2 sin 2ϑB
. 7t �8úö9
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2u/2m = 10−7
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~
2k2/2m = 2.5 · 10−2
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�� �������#	�	
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R(l) =

∫

W (y) d(δϑ) =

∫

W (y)
d(δϑ)

dy
dy ≈ πA

u

k2 sin 2ϑB
≈ πu2l

2k3 cosϑ sin 2ϑB
=
|N0b|2λ3l

cosϑ sin 2ϑB
.
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Ql/ cosϑ
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l0 = 1/2q′′
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l0 ≈
k

u
=

λ

2π

k2

u
.
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l0 ≈ 7
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R = ρ+ τRX, X = τ + ρRX. 7t �8úù9�"
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X

��"�� �(� ���	!��'�� �� �"	
	*� v

R ≈
√

4ρ−
√

2(1− ρ)α
√

4ρ+
√

2(1− ρ)α
, X ≈

√

4(1− ρ)−√2ρα
√

4(1− ρ) +
√

2ρα
. 7t �88ú9
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1−X2N

	 �
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1−R2X2N

�� √
α

	 ��	
��'
α = 0
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RN =

Nρ

1 +Nρ
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RN(ϑ) =
QLW (ϑ)/ cosϑ

1 +QLW (ϑ)/ cosϑ
, 7t �88Q9
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RL =

∫

χ

dϑRN(ϑ) =

∫

χ

dϑ
QLW (ϑ)/ cosϑ

1 +QLW (ϑ)/ cosϑ
, 7t �88t9
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exp(ik̂r)|ψt〉 = Θ(z > D) exp
(

ik̂‖r‖ + ik̂⊥(z −D)
)

X̂
N |Ψ0〉. 7t �88�9
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exp(ik̂r)|ψt〉 = exp(ik̂‖r‖ + ik̂⊥(z −D))
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n = 0
v

|ψ(r)〉 = exp(ik‖r‖ + ik0⊥(z −D)) exp(iq0D)|0〉, 7t �88÷9
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q0 =
√

k2
0⊥ − u0
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(

eiq1D − eiq2D
)

. 7t �88ù9
�"
� 	� 
	� � � ���
���� ��
�����

k0

� ����������
����� � 
�������
		 ��"�%+� 7��"��
������' �� ����� 9 � � "����� � �
k1

� �������� "	&���	����

� � �
��
�	�
���' ����� ���
�
I1 = cos2(δqD/2)

� � 	
��
�	�
���' "	&���	����

� 
I2 = sin2(δqD/2)

� �"�
δq =

q1 − q2
� I�	 	���
�
		

D
	�	

k0

���
�� 	
��
�	�
���' ���# �"#	� 
� ���
�� ��*	��	������("� "���� 
�������
	��	 ����
	
������
� � ��� ����
	� ����!	�� 
���*
�� 
����
	�
A*BÚ*nnCÂjiBD � �� � � ����
	
���� ��# �
	� �I�	 
��	!		 �����+ �
	� 
� ������ 
�	������ ����
*	��

u0

��" ��(	� �
	��% !���' ��������
q2

��(� ��"��(	� �
	��% !���' � 	 ���	!	
�
exp(iq2D)

�
���
�
*	��'
� ���
'$# ����� � ������
D

� ) ���� ���!�� ��	 "������!
� ���'#	� ���+	
�� � ���
��� &�

$*		 7t �88ù9 ��(
� ���
����!'
exp(iq2D)

� 	 ��*	���*		 � ������
D

���
��+ �%��� �I��
��'
�
q1


� ��"��(	� ����
*	��� � �� � 
������� 
� �����+�
	� � �����	
� 	
��
$�	�
���	 �����"	� !���� 
�	����� ��� ������
	� � ��� ������
���' ���
 �����"	�' !�$��� �����+ �%+	 
�	����� ��	 "	&��
*		 � ��� 
��������� �
����'
�� ������
�
	��	 � ��
���
���
� ���	
� 
��	� 
����
	� �&&�
�� �����
� � � � 
� ���

� ���	
� 6�&&�
�� S ���
��ø&�
��'��� �ø
����'
�� ������
�
	� ��<��
����� ��� � !�� ��	 "	&��
*		 �
���	 
�	������ ���$
	
��� ������
	� |q1〉
� � 
������� ������
�� ����	��"� 
� �"��� ��# ��
	 ����+ ������ 
��' � �� � � ��
�� ������
	� ����������
����� � 
� ����!�� �"�� 
�	������ � 	 ������ 
������+ ����� �

��5/4|x~x55/x 4}H/.5x5yx �0./4y3 >|MTT2 y ! 2�M
��������
�� "	&��
*	� ����
���	������ ���
�� ����(�
	�� � 
������ � ���
��'
�� ���$!�� ���
	
���� 
��" � �����
����� �����	�

kn⊥ = kB = πn/a
� 	�	

e4n = 1
� H 	&��
*	� �������
	
��� ���"� � 
��" � "�� 
�
������ ��
����� �����
� ��# ��
	

κm
	
κn

	���� �������	��	(�

�� ����
����
km⊥ ≈ kn⊥

� 	�	
e2m ≈ e2n

� )���
� ��(
� ���"����	�' ���� ���!� �
��" �
e2m = e2n

	 �"
������

�
e4m = 1

� I�	 ���� "��(
� 
���%"��'�� "	&��
*	� ������ ��� � � ����(�
	� �� 
�	������ � 	 "	&��
*	� ���� � �� � � ���+ ����
	� ��"�%+� ���
� 
�"�� 	 �����("�
	� "��� ���
 !���� 
�	����� � )��
	
��� ������ v !�� (� ��"�� 
� �����"���¾ ��"�� �	 
� ���
� ����(��'�� �� ������ 	�	 �����"	�' !���� 
�	����� �� � ���¾����� "������!
� ������ J� �
��� � !�� ��	 "	&��
*		 � ��� �
���	 
�	������ ���
	$
�%� "�� ���� ���
 � �"
� ���� 	
���&��	���� ��
 � !�� 
� ����� ��# ��
	 ���
� �����"��� "���� � � � "���� ���� �
	 "��� "���� ��	�	��%�� I����� ���� �����"	� !���� 
�	$����� � 
� ����!�� ��� � 	 ������ "�(� ��	 �����
�
		 �����	� ������ �
� ��� "�� !����
��� 	 ���"��� �����% 	 "	&���	����

�% ���
� ����� 
�	������ � )����� ���� ���
 ��	�����
�
		 �����	� ������ ��"�� ����(��'�� �� 
�	������ � ��	!�� ������ ���
� �� "��� 
�!����� ���
��'
� ����(�

� � � "	&���	����

�� �� "�� 
����
��'
� ����(�

� �) ���!�� �	�����	!
�� �����	 
����
��'
� ����(�

�� ���
� ��"�� ����������
��'����!
� 
���" �� ��
�#�
	% 
 ����	!
� ��"�%+� � )�� ��� ���
� ��
����' �������	!�$�
	 �öõ� � 	 �� ��������� ��� !	�����% � 
�!����� ����(
�
	� �:+ � ����� 	
�����
� ������ ���
	
��� ��	 
����
��'
�� ��������
�� ����(�
		 �)���
� ��(
� ���"����	�' � !�� 	��%��� "�� ������
	�
m

	
n
� ��
	� � !��

e2me
2
n = 1

� 	 �"$



l�¬ í¸²î² \ ® 5 ¶µ²º¶ ñ´¾À²ð ó ¶6± ²À»¶ð î °± ´ôº ´±µòô ·´±¶¹ó ¶ ñ´¾À¶ô ¾± ´ó ²ô

������

� 6 ����'� ������
	�

l
�
e2l = e2n

� O�� �� ��	 ���� ��"�� 
���%"��'¾ ��"���	 
� ���
� ���
���'% ����(��'�� 	�	 �
	 ��"�� ���+ �����'�� 	 �����"	�' !���� 
�	$����� ¾ ��� ����#�� 	���"
�� ��!
� "�� !	������ � (���%+��� 
�!��' �������

�� 	����$"���
	� �
d Ã� �ÅÇÊ�ÇÆÅÊÎÉ ÎÌËÓÇÊËÉ �Ë8ÆÇÕÐËË � ÕÆËÓÅÇÍÍÉ

E F GHI JKL MGNHKOP QQQ GRS GTU F GVIW GRS GTU SKR RQ
XYZY[\Z]^ =

) ���
"���
�� ��"��"� ���	��"� ���	� 
� ���
� � 
�	������� ��	�������� ���	�"	$!��
	� ����
*	���� � 
����� ���"���������� � �	"� ��"� ;��'�
u(r) =

∑

κ

v(κ) exp(iκr), 7t �8Qú9
�"�

κ
6 ��
��� �����
� ��# ��
	 � � 
��&&	*	�
�� �����(�
	�

v(κ)
	
v(−κ)

� �	����+ �����

���	 ����
*	��� 7�� 
� �!	������ �� !�� �����' � ��������	��%+	� �
	��%"����
� 
 ����
*	��� 9 
�����
�
� �����(�
� "��� � "����� v
v(−κ) = v∗(κ)

� S����
�
��
v(0)

���"�������� ���� ����"
�

� ����
*	�� � �����"�%+	 � ���	!��
	� ����
*	�������"�
u0

�
H �� ��	��
	� "	&��
*		 ��# ����� ����
�
	� � ��"	
���� � ����
*	���� 7t �8Qú9

(

∆ + k2 −
∑

κ

v(κ) exp(iκr)

)

ψ(r) = 0 7t �8Q89
	 � ��"�

� ��"�%+� ����
� ���
� 

exp(ikr)
�

� ü� üû ��
�����

þ��ÿ� Î
�	�
,
�!��� 
�� (������'
� ��
��' � !�� 	� ���� ���"������%� ;��'�$
����
�
�� ����
*	�$��

v(κ)
� N��	# �� ���
� ����
*	�� 
�	������ � �	"� ����� ����"�����
*	���� ;���	

4πbδ(r − r′) "�� ���	��"� ���	� 
� ���
� � �"��� � �������(�

�� � ��!
�
r′
� I���"�$����
*	�� ;���	 ����# ��� � !�� ����	��"� ������
	�

b
����!����� 	� 
��� � ����������"
� ����		 �����+ �
	 �I���"�����
*	�� ;���	 ����� 
�	������ ����


v(r) = 4π
∑

n

m
∑

j=0

bjδ(r − rnj), 7t �8QQ9
�"� 
���"	
���

rnj
������ � 
�	������ ���"������%��� � �	"� �����

rnj = rn + ξj
� � 
�$���� 	
"�
�

n
��
�!��� 
���� �����
���
� �!� 
	 � �

j
6 
���� ����� �
���	 �����
$���
� �!� 
	 � I�	��� "�� �������� �����
���
�% �!� 
� 
��	!��
� � �� �����
� 

a
����" �

rn = na
� �" �

n
6 ��
��� � *���!	���

��	 
���"	
����	 �)�����'������ ����	��� �����������
	� ���� 7t �8t9 	 ����������� ����
*	�� 7t �8QQ9
 �	"�

v(r) = 4π
∑

N

∫

d3n exp(2πiNn)
m
∑

j=0

bjδ(r−rnj) = 4π
∑

κ

∫

d3r′

a3
exp(iκr′)

m
∑

j=0

bjδ(r−r′−ξj),

7t �8Qt9R _`a b`cd e` f ghi jklamnokp qqq r s`hjm ksbtctumv k wiji ksbtctumcd gcuamx`ek` n e`y q z_[_XU {mehv q| k {} g ]VjtXX~ k �[]<=T k|



\ ®� ® �°²µó ²± °µ²ð ó ¶µ²º¶ ñ´¾À²ð °´¹±¶ð ó ¶6± ²À»¶¶ l�Á
�"�

N
6 ��
��� � *���!	���

��	 
���"	
����	 	 �� ������ ����
���� ���" �
� ��
���������
� ��# ��
	

κ = 2πN/a
� �
����	����
	� ��

r′
�����
���
� � 	 ����!��� ����(�$
	� 7t �8Qú9 � �" �

v(κ) = 4πNcF (κ), 7t �8Q�9
Nc = 1/a3

6 !	��� �����
���
�� �!��
 � �"	
	*� ��<��� 	 ����
���
� &�
��� ��# ��
	

F (κ) =
m
∑

j=0

bj exp(iκξj). 7t �8Q�9
� ü� ü� +�þ
	ÿ
��
��ÿ� 

���� ��&�ÿ����
��#�
	� ����
�
	� 7t �8Q89 � 
�
������ ���!��� ��(
� 	�
��' �� ����		 �����+�
	 ���
�� ����	� "	&��
*		 
��������� 
	
����	!��
� � I�	 ���� ����	��"� ������
	�� ����" �

�� 	����'���

q = k − k′ ���"����	�� � �	"�

f(q) =
1

4π

∫

V

d3r
∑

κ

exp(iκr)v(κ) exp(−iqr) =
(2π)3

4π

∑

k

v(κ)δ(κ− q), 7t �8Qõ9
�"�

V
6 ��<�� 
�	������ � 
����� �!	������ "������!
� ���'#	� � !���� 	
������ ��
��� ��(
� ���� �!	���'

δ
$&�

*	� � 	 "������!
� ����� � !���� �
�
!����'
�� ����$��
���' ������
	� 7t �8Q÷9 ���� ���� � �� � � ��	��
�
	� ����		 �����+�
	 ���� ��������$
�� �I� ����	��"� ������
	� 7t �8Qõ9 
���"	� "	&&���
*	��'
�� ��!�
	� ������
	�

σ′(s) = |f(q)|2 =
∑

κ

|v(κ)|2
[

(2π)3

4π
δ(κ− q)

]2

=
∑

κ

|v(κ)|2V (2π)3

(4π)2
δ(κ− q), 7t �8Qö9

�"� � �����"
�� ����
���� �"
� 	�
δ
$&�

*	 ����
�
� 
�

V/(2π)3
� u�
�(	� ����!�

������(�
	� 
� !	��� 
�
�!
�� ������
	 

d3k′ V/(2π)3
	 ���	
����	����� ��

d3k′
�
���
�������
	�

κ
� ����!	� ���
�� ��!�
	� ������
	� � ���� 
�������
		

σ(k→ k′ = k − κ) =
V 2

(4π)2
|v(κ)|2 = (V N0)

2|F (κ)|2 = N2|F (κ)|2, 7t �8Q÷9
�"� �� �!�	 � !��

v(κ) = 4πNcF (κ)
�
Nc

6 !	��� �����
���
�� �!��
 � �"	
	*� ��<��� �	
N = NcV

6 ���
�� !	��� �����
���
�� �!��
 � 
�	������ �
S	
����	!��
�� ����	� "	&��
*		 ��
�������� !�� ������
	� 
� 
�	������ �������( $"����� ����" �!� 
� ���

��� 	����'�� ��
���� �����
� ��# ��
	 � I� ��� ����		 ��$��	��"� ������
	� ��"��(	� ���
�
�!
� ��
	� �	
	 � ������ � ������*	�
��'
� 
��"��$�� !	��� ������ � 
�	������ � X �
� � !�� ��
�� ����	� ��	#
�� ��	�	�	�
� � �
� ���������������' "	&��
*	�

�� �	
	 �� ����
���� 
�	������ � 
� 
� ��(�� ��	���' #	�	
� �	$
�� 	 ���
��	��� 
���	��
	�� "�� ���'#	� ��<����

V
�

d Ã¢ �ÅÇÊ�ÇÆÅÊÇf �ËÊÇÏË!ÉÓÕÇf ÅÉÎÆËf �Ë8ÆÇÕÐËË
I��"����	� 
�	����� � �	"� ���
�
�!
��� �����
"	
����
��� ��	

z

�	�����	!��
������� ���+	
�

D
� )��	��"� ���	� 
� ���
� � ��	� ����� ��	�������� �������
�� ��$�	�"	!��
	� ����
*	���� 7t �8Qú9 � )��
���� &�

*	� �
���	 ���	�"	!��
��� ����
*	���
����	�"	!
� � �"
�
� 
����	�"	!
���' �� ��" ����� �	#' �������
	� ���
���� ��
����� ���� ��
�!���� !�� ���
���� &�

*	�

ψ(r)
�
���	 
�	������ ���"����	�� � �	"�

ψ(r) = exp(iqr)φ(r), 7t �8Qù9



l�ì í¸²î² \ ® 5 ¶µ²º¶ ñ´¾À²ð ó ¶6± ²À»¶ð î °± ´ôº ´±µòô ·´±¶¹ó ¶ ñ´¾À¶ô ¾± ´ó ²ô
�"�

q
6 �������
	 ���
��� ��
��� � �

φ(r)
6 ���	�"	!��
�� &�

*	� � 
������ � 
�
	 ����
*	�� 7t �8Qú9 � ���	�������� � �	"� ��"� ;��'� v

φ(r) =
∑

κ

Φ(κ) exp(iκr). 7t �8tú9
�� ����������
	� 7t �8Qù9 	 7t �8tú9 �	"
� � !�� 
����
�
��

q‖
� ��������'
�� ������
�$��	 
�	������ � ��(
� ��	
��' ���
��	

k‖

� ���
��'
�
q‖

� �	�� 
�������
���	 ���
�
� ���
	*� 	 "	�
���
���	 
�	�����	!��
	� ����
���� ��(�� ���	!��'�� ��
k‖

���'$
� 
� ��
��� �����
� ��# ��
	
κ‖


�	�����	!��
	� ����
���� � 
�
κ‖

��(
� ����
���	� ����� 7t �8tú9 �H�� ���� !���� 
� �	 
��&&	*	�
��
Φ(κ)

� ��" ����	� ���
���% &�

*	% � ����
�
	�� ��"	
���� 	 � �!���� �����(�
	� 7t �8tú9 ����!	�

exp(iqr)
∑

κ

(

[(q + κ)2 − k2]Φ(κ) +
∑

κ′

v(κ′)Φ(κ− κ′)

)

exp(iκr) = 0. 7t �8t 89
��� ����
�
	� �
�	����
�
� ���
�
�!
� �	����� ����
�
	 "��

Φ(κ)
[

(q + κ)2 − k2
]

Φ(κ) +
∑

κ′

v(κ′)Φ(κ− κ′) = 0. 7t �8tQ9
,	����� �"
���"
� � 	 ������ 	���� 
�
������ ��# �
	� ���'
� ���" � � 
��" � "�����	
�
��� 
��&&	*	�
��� ����+ ����� � 
��' � I�	���
	��� 
��% ���
�
�!
����
� "�����	
�
������!��� ����
�
	� ���
�
�!
� �����
	 "�� �������
	� ��
�����

q
� � ���
��'
�

q‖ = k‖

��� ����
�
	� ����"����� ���'
� 
�����'
�% 
����
�
��
q⊥

�u���
�
	� 	���� ���
�
�!
�� �
�(����� ��# �
	 
qn⊥

� 	 � ����� ���� 
�
 �� 	� 
� "�� ���(
� ��� 
��&&	*	�
�� �"
���"
� �	�����
Φ(κ)

�����	�' !���� �"	
 	� 
	� � 
���	$���
Φ(0)

� � ����� ������'�����'�� ���
	!
��	 �����	��	 
�������
���	 &�

*		 	 �����	���"
� � !���� 
� �	 ��� ���
� � ������ �������
���� � ����("�

�� "	&��
*	� � 
�	������ � ���������� � *��	
�� ��� ��������� 
������
	�� � 	 ��	��"	��� ��	�����'
 ��� 	�	 	
�� ��	��	(�
	�� �
��5/4/.5/4/x H|y�.yO x5yx
I����	# �� �	����� ����
�
	 7t �8tQ9 � �	"�

[(q + κ)2 − k2 + u]Φ(κ) +
∑

κ′ 6=κ

Φ(κ− κ′)v(κ′) = 0, 7t �8tt9
�"�

u = v(0)
� I���
*	�� ���	��"� ���	� ���!
� �!�
' ��� � ������� ���� 	 
��&&	*	�
$��

v(κ)
� :��	 �
���	 
�	������ 	������ �"	
����

�� ���
� � ���'#� ����	��"� 

Φ(κ)
��� "�� ���� � !���� �
� �"����������� �	����� 7t �8tt9 � "��(�
 ���' ����
 
��% 
��&&	$*	�
� ��	

Φ(κ)
� �� � �

(q + κ)2 − k2 + u = 0. 7t �8t�9��	� ����
�
	�� ����"�������
q
� ,�� 
��&&	*	�
�

Φ(κ)
����"������� �#	�
� � ��$" �%+ � ����
� ���
� 
� ������
���	 
�	������ � ) "��'
� # �� ��"�� �!	���' � !����� ������
���' �����"��� � 
���"	
��
� ����
���'%

z = 0
� I�"�%+ �� ����
�� ���
�

exp(ikr)
��	 ��������		 "	&��
*		 ����("��� � 
�	������ �"	
����

�% ���
�

exp(iqr)�
κ = 0

� I��
��'
�� 
�
 ���� �
���
� ��# � �
q‖ = k‖

� ����
�
	� 7t �8t�9 ���	��������� �	"�
q2
⊥ − k2

⊥ + u = 0, 7t �8t�9��
�"� ���"���� !��
q2
⊥ = k2

⊥ − u
� �� � � ���
��� ��
��� �
���	 
�	������ 	���� ��� (��	" � !�� 	 �
���	 ����#
� ���"� � � 
��&&	*	�
�

Φ(κ = 0)
� 
��" � ����(�
	�� ��(
����
����!' � �����"��� � ����	��"� ��"�%+� ���
� � �� � � � 
�# �� ���!��

Φ(κ = 0) = 1
�



\ ®� ® �°²µó ²± °µ²ð ó ¶µ²º¶ ñ´¾À²ð °´¹±¶ð ó ¶6± ²À»¶¶ l��
K 4�E4/.5/4/x H|y�.yO x5yx
:��	 �
���	 
�	������ ���
	
�%� "�� ���
� � "������!
� ���'#� ����	��"� � �
�(�� ����
�

Φ(0) = Φ(κ = 0)
� 	

Φ(κ)
� 
�
������ 
� ���
�� 
��%

κ
� �� ���
�
�!
�� �	���������
�
	 ���"	��� 
 �	����� "��� ����
�
	 

[q2
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[q2
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Φ(κ) = −q
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Φ(1,2)(κ)
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Φ(1,2)(κ) = −
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Φ(1)(0) =
(q2

2⊥ − k2
⊥ + u) exp(iq2⊥D)

(q2
2⊥ − k2

⊥ + u) exp(iq2⊥D)− (q2
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⊥ + u) exp(iq1⊥D)
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⊥ + u) (exp(iq1⊥D)− exp(iq2⊥D))

v(−κ)(q2
2⊥ − q2

1⊥)
, 7t �8�ù9

� ����	��"� ���# �"# � 
�"	&���	����

� ���
�
Ψ(0, D) = Φ(1)(0)eiq1⊥D + Φ(2)(0)eiq2⊥D =
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Ψ(κ)(D) = exp(iq+D)
i sin(q−D)
√

1 + η2
, Ψ(0)(D) = exp(iq+D)

(

cos(q−D) +
iη sin(q−D)
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1 + η2

)
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[

Φ(2)(0)eik‖r + Φ(2)(κ)ei(k‖+κ‖)r
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√
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Φ(1)(κ) = − 1

2
√
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]
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kκ⊥ =
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k2 − (k‖ + κ‖)2
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D0 = 1/q−
� ���"� 	
��
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I(0) = cos2(D/D0) +
η2

1 + η2
sin2(D/D0), I(κ) =

1

1 + η2
sin2(D/D0). 7t �8ö�9
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∫
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d2r‖
2

|b|2
(2π)2

∫ ∫

d2p‖d
2p′‖

p′⊥p⊥
ei(p‖−p′

‖
)r−i(p⊥−p′⊥)z(p⊥ + p′⊥) = |b|2

∫

p2⊥>0

d2p‖
p⊥

= 2πk|b|2,
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����� � 	 �����
������	 �
���
�
*	��'
� ������%+	�	 ���
��	 � ���
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ψ(r) = eikz − ib
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exp(ip‖r + ip⊥z). 7t �8÷t9
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∫
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e−ikz +
ib∗
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d2p‖
p⊥

e−ip‖r−ip⊥z

)

(−→
d

dz
−
←−
d
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)
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eikz − ib

2π

∫

d2p‖
p⊥

eip‖r+ip⊥z

)

,
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� "	&&���
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 7t �8÷�9 ��(
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J = J0 + Js + Ji

� I����� ���$������ ����"������� ��"�%+� ����
� ���
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�
kS

� )����� ����"������� �����$�

��	 ���
��	 � ��� ��(
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 � 7t �8÷Q9 � 	 �
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Js = 2πk|b|2 � ����'����������

Ji
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d2r‖

∫

p2⊥>0

d2p‖
4πip⊥

(k + p⊥)eip‖r
(

bei(k−p⊥)z − b∗e−i(k−p⊥)z
)

= 4π Im b, 7t �8÷�9
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Im b
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b
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S1, S2

� ��� ����
 ����
�� ����"�+��� 	�
��� � �� � �
J0 = J0 + 2Js + Ji. 7t �8÷õ9��� �����(
� ���'
� ���	

2Js + Ji = 0
� 	�	

Im b = −k|b|2 = −kσel
4π
, 7t �8÷ö9
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σel = 4π|b|2 6 ��!�
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� "��� ����
� 
���(� 
	 ��	 
�
	� �������
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b =
b0

1 + ikb0
, 7t �8÷÷9
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b0
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�� ���	!	
� � S�
�!
� � ����(�
	� 7t �8÷÷9 ��(
� ���	���' 	
�!� v

b =
b1

c+ ikb1
, 7t �8÷ù9

�"�
c
	
b1

6 ��+ �����

�� ��������� � �"
�
� � ���" ��	� !	��	���' 	 �
���
����' 
�
c
��� ����
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b1
v
b0 = b1/c
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� ��
��' � !�� ���	�� "��� ���	 �����	��%+	 *�
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� ��("� ����
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'#� ����
� �����%+	� � 	 ����(�
	� 7t �8÷õ9 "��(
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J0 − (J0 + 2Js + Ji) = kσa, 7t �8ùú9�"�

σa
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kσa
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�# �
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	� � I�"����	� �%"� 7t �8÷Q9	 7t �8÷�9 � ����!��� &�����	���
� ���	!��
� ������� � �	"�

Im b = −k σt
4π
, 7t �8ù 89
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b =

b0
1 + ikx

7t �8ùQ9
	 ��������� � !����

kxb0
1 + k2x2

= k
σt
4π
.

���"� ����!	� ����
�
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k2x2σt + σt − 4πb0x = 0,	� 
������� ���"���� !��

x =
2πb0 −

√

(2πb0)2 − k2σ2
t

k2σt
. 7t �8ùt9
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�
kσa � 2πb0

� �������
x ≈ σt/4πb0

� 	 ��(
� ���	���' 7t �8ùQ9 � �	"�

b =
b0

1 + ikσt/4πb0
. 7t �8ù�9
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Im b(θ = 0) = −k σt
4π
, 7t �8ù�9

�� � � �
	��� !���' ����	��"� ������
	� �����" ���
� −kσt/4π �
� üÜ ü� �þ�
ÿ�þ��
} � ����ÿ
 �ÿ��
�þ�� þÿ ����
ÿ����
���� �������
�
I������	� �����' � 
 !��� ��	��"	� �������
	� �
	���
���	 � ��	��
�

�� 
 ���
��� &�
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Js = (2πN2)
2|bC|2

k2
n⊥>0
∑

n

1

kn⊥
, 7t �8ùõ9
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		 ��
n

���������%��� ��� ��������� � �
���
�
*	��'
� ������%+	�	���
��	 �
�
���&���
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�� ����
���' ����
� !���� ����
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S2

� 
�������
		
k0

���
�
Ji = −2πiN2(bC − b∗C∗). 7t �8ùö9

u����	� �
	���
���	
Ji + 2Js = 0


�
��"����� �������
	� 
�
bC

v

Im(bC) = −γ|bC|2, γ = 2πN2

k2
n⊥>0
∑

n

1

kn⊥
. 7t �8ù÷9
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C =
1

1 + ibα
, 7t �8ùù9
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α
� ����+ � ������ � 6 
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α = α′ − iα′′
� I�	
	��� �� �
	��
	� ����$(�
	� 7t �8÷÷9 "�� b � ������"�	��� � ��������	� �����+�
	� � ����!��� � !��

bC =
b0

1 + b0α′′ + ib0(k + α′)
=

b1
1 + ib1(k + α′)

, 7t �Qúú9
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b1 = b0/(1 + b0α
′′)

6 ����
���	����

�� ����	��"� ������
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Im(bC) = −(k + α′)|bC|2. 7t �Qú 89,���
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α′ = −k + γ = −k + 2πN2
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w(Ω→ Ω
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ψ(r) = exp(ikr)− 2πiN2bC
∑

κ

1

k⊥(κ)
exp(ikκr) 7t �Q 8ù9
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ψ(r) = exp(ik‖r‖)

(

Θ(z < 0)

[

eik0⊥z − i p
k0⊥

e−ik0⊥z
]

+

[

1− i p
k0⊥

]

Θ(z > 0)eik0⊥z
)

−

−
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κ6=0

p

|k⊥(κ)| exp(ikκ‖r‖ − |k⊥(κ)||z|), 7t �QQú9
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k0⊥ = k⊥(κ = 0)
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p = 2πN2bC
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α = −k +
2πN2

k0⊥

− iα′′, α′′ = 2πN2
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κ 6=0

1

|k⊥(κ)| . 7t �QQ89
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1− ibk + 2πiN2b/k0⊥ + bα′′
=

b0
1 + b0α′′ + ip0/k0⊥

=
b1

1 + ip1/k0⊥

, 7t �QQQ9
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√
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√

k2 − u1

1 + u1a2/12

k +

√
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√

k2 − u1

1 + u1a2/12

. 7t �QQ�9

���%"� �	"
� � !�� ����(�
	� ��"�� ���
�� ��	
k2 < u1/(1 + u1a

2/12)
� I�����
�

u1a
2/12 ≈ b1/a

���������
� "	�
���
���'% 
�	������ � 
�������
		 
�����	 
 ������$
���	 � 
��"� 
�	�����	!��
�� ����
���' �!	������ ����#
� 	 ��	��������
δ
$�����
������
*	���� � H�� ���'#	
���� ��+ ���� ������
� 	���� ���	!	
� ����"
�

10−4
	 ��(���!	���'�� ���
����(	�� ���� �

K yB|21Ny/5523 H/H|2412 1 /H{y�x01/~� H/{x5Ny2.�
���%��� � �"
�
� � ������
	 	 "������ �	"� 7��"�� 
������' 	� "	&��
*	�

��	9 � 
���$��� ����"���%��� ����� �
���
�
*	��'
� �����%+	� ���
 � ����(�
		 7t �QQú9 � H ���� ��� � !�� 
�("�� �
���
�
*	��'
� �����%+�� ���
� �

k⊥(κ) = i|k⊥(κ)| � ���
	
�%+ �� 
��"
� ����
���	 � ��	 "	&��
*		 
� ���"�%+� ��(�� �������	�'�� � ���
� � 
�!��'
��



lÁm í¸²î² \ ® 5 ¶µ²º¶ ñ´¾À²ð ó ¶6± ²À»¶ð î °± ´ôº ´±µòô ·´±¶¹ó ¶ ñ´¾À¶ô ¾± ´ó ²ô
��
�����

k⊥(κ− κ) = k0⊥

� ��� ���
� "���� ����������
����� ��������'
� ��"�%+� 	�	���
��'
� ����(�

� ���
� �
�*�
	� ���	!	
� ������
	 
 ����
*	���� ���������

� �
���
�
*	��'
� ������%+	$�	 ���
��	 � H �� ����� ����
	!	��� ���'
� �"
� ���
� � 
������ "��� ��
�	���'
�%������
�� ��� ���
� �������� ��
'#� ����� ��("� "���� 
�	�����	!��
	� ����
����$�	 � �
� ��"����� ������ ��������� � ����� 7t �QQú9 � �
��	 ������	 � ����
	� ��% ���$�� 7t �QQú9 �"	
����

�� ��������� 	 ������
	� 
� �"
� ����
���	 ��"�� ��	�����'���
��� &�

*	� 
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σel = 4π|bi|2
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���� ������$
	� 	 �
	�� !���	 ����	��"�
b
� �"
�
� ��� 	���
�
	� 
������� ����
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α = α′ − iα′′
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2ik
(S − 1) =
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2ik
[exp(−2ika+ 2iχ)− 1] =

tg(χ− ka)/k
1− i tg(χ− ka) , 7t �Qt�9
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E + c2 tg(

√
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√
E tg(

√
E + c2)√

E + c2 +
√
E tg(

√
E) tg(

√
E + c2)
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�"� �
���	�

E
��" �
� � �"	
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6 � �"	
	*�� #	�	
� ����
*	��'
� ���

a
�� ������

��

c
����"������� ��
	� ������� � !���� � ���"���

E → 0
����!����' ��" �

���
�!�
	�

b0 = 4.5
&� � ��� �����(
� � 
��" �

c
�"����������� ����
�
	%

tg c = c(1− b0/a).)���(�
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b(E) = b0
0.4

E + 0.4
. 7t �Qtö9
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b(E) ≡ bs(E)

4
=

b(0)

1 +Qx2
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dp
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dM(r)
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4πr2ε(r)

c2
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dp
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= −Gρ(r)M(r)

r2
= −Gε(r)M(r)

c2r2

[

1 +
p(r)

ε(r)
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2πr2p(r)
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1− 2GM(r)
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2m

d[4πnb(n)]

dr
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+

4π
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(mncR0)

2Gx3d[x
3β(x)]

dr
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n = ρ/m
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x = (n/nc)

1/3 7nc = k3
c/3π
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3.7 · 1039
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ε(r) =
8π~c

(2π)3

kF (r)
∫

0

√

k2 + k2
c k

2 dk = mc2nc

x
∫

0

3
√
u2 + 1u2 du = εcf(x), 7t �Q�t9
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P
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kF/kc = 3
√

n/nc
P
nc = k3

c/3π
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P
εc = mc2nc = 5.6 · 1035 H(M�

3
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f(x) = 3

x
∫

0

√
1 + u2 u2 du =

3

8

[

(2x2 + 1)x
√

1 + x2 − ln
(

x+
√

1 + x2
)]

= x3

{

1, x→ 0
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3x/4, x→∞ �
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p = −∂U
∂V

= n
dε

dn
− ε = εcφ(x), 7t �Q��9
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φ(x) =
x

3

df

dx
− f =

1

8

[

(2x2 − 3)x
√

1 + x2 + 3 ln(x+
√

1 + x2)
]

= x4

{

x/5 x→ 0
1/4 x→∞ . 7t �Q�õ9
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µ = M/M0
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r = r0z
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mc

√
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√
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è�¦��� �� � �� *|���~�¦� {}� �ì� ��
ý�� ÿ ¶¸ªf��²TU� µñ± ñ ��ô <û �� �÷=��� ÷�= �� 4ûùô� ���ù �� �ììí �� � � í � � � þ �� �� ìì �@ììþ �
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í ��

�� �ìí@ìü� �
ý�þÿ ¶¸ªf��²TU� µñ± ñ � ô���ó�ù��÷ú�÷ó� ÷� �ô���ó� ù�û�ù �� û�Û ÷	 � ûù��ó�;��ü� ���
��� íüüþ �
ý�
ÿ ¶¸ªf��²TU� µñ± ñ � ô���ó� ù�û�ù R ÷��ó�� =�û	 ÷�� �� ��óú � ó¬ ��ô ÛÛÛ�>>@� >>> g ÷��ô�
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